
HYDRAULIC swIveL 
joInts

DIstRIbUtoRI
RotAntI

DIstRIbUIDoR 
RotAtIvo HIDRÁULICo

Гидравлическое 
поворотное 
соединение

中央回转体

www.hbs.it



HYDRAULIC swIveL joInts
DIstRIbUtoRI RotAntI

CAtALoGo GeneRALe

GeneRAL CAtALoGUe



Hbs transmittal

the 
company

Hbs bases its development 
on the singergy with 
the customer

PHILosoPHY

Hydraulic swivel joints

With its technical staff Hbs is able to 
realize and customize, in synergy with 
the customer, highly innovative hydraulic 
swivel joints for each type of use, 
from transport to construction, from 
construction machinery to agriculture, 
from ecology to industrial systems.

since 1967 Hbs Group operates in the 
production and marketing of hydraulic 
and electromechanical components. the 
constant search for technical solutions, 
the constant improving the quality of 
product and process, in addition to the 
efficiency and flexibility of the production 
allow Hbs to the continued success 
in the global market. the presence of 
Hbs with unit production and trade in 
different continents, alongside a qualified 
distribution network, provides customer 
assistance it needs. 
Hbs is your partner for the development 
and supply of hydraulic components and 
electromechanical.

Hbs is able to anticipate 
the needs of the changing 
market and to develop 
customized products

R&D



Application 
fields

To choose technology 
HBS, mean to entrust 
themselves to a sure, 
synonymous partner 
of quality in the lift. 

For this we put to disposition know how 
of our engineers and our technicians 
who place side by side the customers in 
the planning, in the study and the search 
of new solutions. 
Thanks to the high level of experience 
acquired by its personnel, hbs 
personalised design and planning, 
and high level professional consulting 
for the installation of systems are 

Hbs transmittal

Hbs is one truth in a 
position to forerunning 
the needs of a market 
in constant evolution

iNNOVAtiON

guaranteed. with the unit planning, 
hbs in a position to devising, realizing 
and to personalize, in synergy with 
the customer, valves and hydraulic 
components highly innovated for 
every kind of employment, from the 
transports to the earth movement, 
from the building to agriculture, the 
ecology to the industrial systems. 
hbs bases the principle of its own 
development upon synergism with 
the costumer.

DrilliNg rigs
ExcAVAtOr
MiNiNg MAchiNE
MObilE crANE
AEriAl plAtfOrM

Hydraulic swivel joints



DIstRIbUtoRe RotAnte eLettRICo / ELECTRICAL SWIVEL JOINT
Caratteristiche tecniche generali / General technical informations

ACCessoRI:
Fornitura giunto rotante elettrico secondo specifiche 
del cliente. 

ACCessoRIes:
Every model can be equipped with electrical swivel joint 
following the specification of the customer.

DIstRIbUtoRe RotAnte IDRAULICo / HYDRAULIC SWIVEL JOINT
Caratteristiche tecniche generali / General technical informations

MAteRIALI DI CostRUZIone
statore: C40  - alluminio; rotore : S35J2G3  - alluminio

FLUIDI
olio idraulico - DOT 4 - H2O - grassi - idrocarburi - gas

tRAttAMentI sUPeRFICIALI
statore: cromo duro - nichelatura - ossidazione
rotore: fosfatazione al manganese - nichelatura - 
ossidazione

tenUte
guarnizioni in buna N - viton - EPDM - anelli in teflon 
caricati

CARAtteRIstICHe DI LAvoRo
temperatura consigliata d’esercizio: -10°C a +80°C
temperatura massima d’esercizio: +90°
temperatura massima/minima ambientale: -20°C + 60°C
n° di giri max di rotazione: 12 rpm
pressione max: 420 bar;
coppia di rotazione: dipende dal modello; coppia di 
stacco: dipende dal modello
montaggio: orientamento verticale; forze radiali e 
assiali: non concesse

Tutti i dati contenuti nel presente documento non 
sono riproducibili e possono essere modificati in ogni 
momento a discrezione della ditta costruttrice.

ConstRUCtIon :
stator: C40 - aluminium; rotor : S35J2G3  - aluminium

FLUIDs
hydraulic oil - DOT 4 - H2O - grease - hydrocarbons - gas

sURFACe tReAtMents
stator: hard chromium plating - nickel plating - hard 
oxidation
rotor: phosphatizing with manganese - nickel plating - 
hard oxidation

seALInG CoMPonents
seals in buna N - viton - EPDM - special teflon rings

woRkInG ConDItIons
ideal operating range: -10°c ÷ 80°c
max operating temperature: 90°c
min/max environment temperatures: -20°c / +60°c
max rotating speed: 12 rpm
max pressure: 420 bar;
rotating torque: it depends by the model; starting 
torque: it depends by the model
mounting position: vertical; axial and radial loads: no 
allowed

All the data of this catalogue are not reproducibles 
and can have modifications at discretion of HBS.

O-RING

ANELLO ANTIGRIPPAGGIO
ANTI FRICTIONAL RING

O-RING

V-SEAL

PATTINO
SLIDE RING

ANELLO ANTIGRIPPAGGIO
ANTI FRICTIONAL RING
ANELLO ANTIGRIPPAGGIO
ANTI FRICTIONAL RING

ROTORE
ROTOR

V-SEAL

STATORE / STATOR



Indice 
Index

Distributori rotanti - 2 vie
Hydraulic swivel joints - 2 ways

Distributori rotanti - 5 vie
Hydraulic swivel joints - 5 ways

Distributori rotanti - 8 vie
Hydraulic swivel joints - 8 ways

Distributori rotanti - 3 vie
Hydraulic swivel joints - 3 ways

Distributori rotanti - 6 vie
Hydraulic swivel joints - 6 ways

Distributori rotanti - 9 vie
Hydraulic swivel joints - 9 ways

Distributori rotanti - 4 vie
Hydraulic swivel joints - 4 ways

Distributori rotanti - 7 vie
Hydraulic swivel joints - 7 ways

Distributori rotanti - 10 vie
Hydraulic swivel joints - 10 ways

Distributori rotanti - 12 vie
Hydraulic swivel joints - 12 ways

Distributori rotanti - 13 vie
Hydraulic swivel joints - 13 ways

Distributori rotanti - 14 vie
Hydraulic swivel joints - 14 ways

Distributori rotanti - 15 vie
Hydraulic swivel joints - 15 ways

Distributori rotanti - 16 vie
Hydraulic swivel joints - 16 ways

Distributori rotanti - 18 vie
Hydraulic swivel joints - 18 ways

Distributori rotanti - 22 vie
Hydraulic swivel joints - 22 ways

Indice - Index

2

3

4

5

6

7

8

9

10

12

13

14

15

16

18

22



3 VIE 3 VIE
D085030200* x 300 1 2

D145030200 420 1 2

4 VIE 4 VIE
D045040100 300 2 2

D045040200 300 4

D060040000 x 420 4

D060040100 300 4

D060040300 420 4

D060040400 x 420 2 2

D060040600 420 2 2

D085040200 x 300 1 1 2

D085040400 x 300 1 1 2

D085040600 x 300 4

D085040800 x 300 2 2

D085041100 x 420 1 1 2

D085041900 x 300 2 1 1

D100040200 x 420 1 1 2

D145040200 300 1 1 2

D170040100 x 420 1 1 2

2 VIE 2 VIE
D045020000* 300 2

D045020100* 300 2

D045020200 300 2

D060020100 x 420 2

D060020400 420 2

D060020500 x 420 2

D060020900* 15 x 2

D075020100 420 2

D075020500* 420 2

D085020200 420 2

D085020400 x 300 2

D085020500 x 420 2

D085020600 420 2

D085020800 x 420 2

D105020000 420 2

D105020100* 420 2

D105020300* 420 2

D125020200 300 2

D140020100* 300 2

IteM
CoDe

M10x1 M12x1,5 M14x1,5 M16x1,5 M18x1,5 M20x1,5 M22x1,5 M27x2 M33x2 M42x2 M48x2

7/16"-20UnF 1/2"-20UnF 9/16"-18UnF 3/4"-16UnF 7/8"-14UnF 1.1/16"-12Un 1.5/16"-12Un 1.5/8"-12Un 1.7/8"-12Un

1/8"G 1/4"G 3/8"G 1/2"G 3/4"G 1"G 1.1/4"G 1.1/2"G 2"G

3/8" sAe3000 1/2" sAe3000 3/4" sAe3000 1" sAe3000 1.1/4" sAe3000 1.1/2" sAe3000 2" sAe3000 2.1/2" sAe3000

3/8" sAe6000 1/2" sAe6000 3/4" sAe6000 1" sAe6000 1.1/4" sAe6000 1.1/2" sAe6000 2" sAe6000 2.1/2" sAe6000

1/8" nPt 1/4" nPt 3/8" nPt 1/2" nPt 3/4" nPt 1" nPtC
o

nn
es

si
o

ne
 s

lip
ri

ng
Sl

ip
ri

ng
 c

on
ne

ct
io

n

P
re

ss
io

ne
 M

ax
 (b

ar
)

M
ax

 p
re

ss
ur

e 
(b

ar
)

C
us

ci
ne

tt
i s

ig
ill

at
i

Se
al

ed
 b

ea
ri

ng
s



5 VIE 5 VIE
D085050200 x 300 2 1 1 1

D085050600 300 1 2 2

D100050500 x 400 1 4

D100050100 420 3 2

D100050400 x 380 2 1 2

D100050800* x 400 x 4 1

D110050100 300 5

D140050100 x 300 2 3

D145050100 350 1 2 1 1

D145050300 x 380 1 2 1 1

D145050400* 300 2 1 2

6 VIE 6 VIE
D075060100 x 350 4 2

D085060100 x 380 6

D085060200* 350 2 4

D100060000 x 350 2 2 1+1

D100060100 x 380 1 1 2 1 1

D105060100 x 380 2 2 2

7 VIE 7 VIE
D060070100 300 7

D060070200 320 7

D085070100 x 320 1 6

D100070000 350 2 1 4

D100070200* 380 2 3 2

D110070100* 380 3 4

D110070200 x 380 3 2 2

D124070100* 380 2 1 4

D124070200 x 380 3 4

D124070300 x 300 x 1 1 2 2 1

D145070100 300 2 1 4

D145070200 x 300 7

D145070300 300 7

D195070000 300 7

M10x1 M12x1,5 M14x1,5 M16x1,5 M18x1,5 M20x1,5 M22x1,5 M27x2 M33x2 M42x2 M48x2

7/16"-20UnF 1/2"-20UnF 9/16"-18UnF 3/4"-16UnF 7/8"-14UnF 1.1/16"-12Un 1.5/16"-12Un 1.5/8"-12Un 1.7/8"-12Un

1/8"G 1/4"G 3/8"G 1/2"G 3/4"G 1"G 1.1/4"G 1.1/2"G 2"G

3/8" sAe3000 1/2" sAe3000 3/4" sAe3000 1" sAe3000 1.1/4" sAe3000 1.1/2" sAe3000 2" sAe3000 2.1/2" sAe3000

3/8" sAe6000 1/2" sAe6000 3/4" sAe6000 1" sAe6000 1.1/4" sAe6000 1.1/2" sAe6000 2" sAe6000 2.1/2" sAe6000

1/8" nPt 1/4" nPt 3/8" nPt 1/2" nPt 3/4" nPt 1" nPtC
o

nn
es

si
o

ne
 s

lip
ri

ng
Sl

ip
ri

ng
 c

on
ne

ct
io

n

P
re

ss
io

ne
 M

ax
 (b

ar
)

M
ax

 p
re

ss
ur

e 
(b

ar
)

C
us

ci
ne

tt
i s

ig
ill

at
i

Se
al

ed
 b

ea
ri

ng
s

IteM
CoDe



8 VIE 8 VIE
D085080000 x 300 4 4

D100080100 x 380 4 3 1

D100080500 x 350 4 4

D100080800 350 5 2 1

D100080900 x 320 1 3 4

D110080200 x 350 4 4

D110080300 x 400 3 1 2 2

D110080400 x 350 3 1 4

D110080600 400 1 1 2 4

D145080100 x 350 2 1 2 2 1

D190080000 300 8

9 VIE 9 VIE
D085090100 350 4 3 2

D085090200 x 350 5 4

D100090100 350 3 4 2

D105090100 300 3 2 4

D105090200 320 2 1 4 2

D110090200 x 350 2 4 2 1

D145090100 320 2 1 2 4

12 VIE 12 VIE
D085120100 350 12

D085120300* x 350 3 6 1 2

D100120100 330 7 1 4

D124120200 350 2 8 2

D125120100 x 300 2 2 2 3 3

D145120100 350 5 1 1 4 1

13 VIE 13 VIE
D100130000 x 420 x 9 4

D100130300 x 350 6 2 3 2

D170130100 x 350 2 4 6 1

D180130000 300 1 3 1 2 2 1 1

10 VIE 10 VIE
D100100100 x 300 8 2

D100100200 350 3 1 6

D105100100 380 2 4 4

D125100300* x 300 1 3 3 1 2

D145100200 400 3 1 6

C
o

nn
es

si
o

ne
 s

lip
ri

ng
Sl

ip
ri

ng
 c

on
ne

ct
io

n

P
re

ss
io

ne
 M

ax
 (b

ar
)

M
ax

 p
re

ss
ur

e 
(b

ar
)

C
us

ci
ne

tt
i s

ig
ill

at
i

Se
al

ed
 b

ea
ri

ng
s

M10x1 M12x1,5 M14x1,5 M16x1,5 M18x1,5 M20x1,5 M22x1,5 M27x2 M33x2 M42x2 M48x2

7/16"-20UnF 1/2"-20UnF 9/16"-18UnF 3/4"-16UnF 7/8"-14UnF 1.1/16"-12Un 1.5/16"-12Un 1.5/8"-12Un 1.7/8"-12Un

1/8"G 1/4"G 3/8"G 1/2"G 3/4"G 1"G 1.1/4"G 1.1/2"G 2"G

3/8" sAe3000 1/2" sAe3000 3/4" sAe3000 1" sAe3000 1.1/4" sAe3000 1.1/2" sAe3000 2" sAe3000 2.1/2" sAe3000

3/8" sAe6000 1/2" sAe6000 3/4" sAe6000 1" sAe6000 1.1/4" sAe6000 1.1/2" sAe6000 2" sAe6000 2.1/2" sAe6000

1/8" nPt 1/4" nPt 3/8" nPt 1/2" nPt 3/4" nPt 1" nPt

IteM
CoDe



14 VIE 14 VIE
D100140100 350 12 2

D124140200 350 4 3 1 6

D170140100 320 5 2 4 1 2

15 VIE 15 VIE
D124150100 x 350 2 9 2 2

D124150400 x 350 2 9 2 2

D145150100* 320 6 5 1 2 1

18 VIE 18 VIE
D145180100 x 380 7 7 4

D170180100 300 4 7 4 1 1 1

16 VIE 16 VIE
D125160100 300 5 1 6 2 2

22 VIE 22 VIE
D124220100* x 320 16 3 3

M10x1 M12x1,5 M14x1,5 M16x1,5 M18x1,5 M20x1,5 M22x1,5 M27x2 M33x2 M42x2 M48x2

7/16"-20UnF 1/2"-20UnF 9/16"-18UnF 3/4"-16UnF 7/8"-14UnF 1.1/16"-12Un 1.5/16"-12Un 1.5/8"-12Un 1.7/8"-12Un

1/8"G 1/4"G 3/8"G 1/2"G 3/4"G 1"G 1.1/4"G 1.1/2"G 2"G

3/8" sAe3000 1/2" sAe3000 3/4" sAe3000 1" sAe3000 1.1/4" sAe3000 1.1/2" sAe3000 2" sAe3000 2.1/2" sAe3000

3/8" sAe6000 1/2" sAe6000 3/4" sAe6000 1" sAe6000 1.1/4" sAe6000 1.1/2" sAe6000 2" sAe6000 2.1/2" sAe6000

1/8" nPt 1/4" nPt 3/8" nPt 1/2" nPt 3/4" nPt 1" nPtC
o

nn
es

si
o

ne
 s

lip
ri

ng
Sl

ip
ri

ng
 c

on
ne

ct
io

n

P
re

ss
io

ne
 M

ax
 (b

ar
)

M
ax

 p
re

ss
ur

e 
(b

ar
)

C
us

ci
ne

tt
i s

ig
ill

at
i

Se
al

ed
 b

ea
ri

ng
s

* Giunti speciali per informazioni contattare customerservice@hbs.it
   Special swivel joints  contact customerservice@hbs.it for more information

IteM
CoDe



Item code
D045020000

Item code
D045020100

1
3/8"G

3/8"G 10 300 Hydraulic Oil
3/8"G

2
3/8"G

3/8"G 10 300 Hydraulic Oil
3/8"G

100bar

100bar

B1

A1 A2

B2

BA

Ø0.5

 1
4 

 =
 

 4
5 

 =
 

 116 

 4
0  =

 
 =

 

 M8
16 (n.2) 

 
14,5 

 115 

 M8
15 (n.2) 

 56 

 85  1
2,

5  27,5 

 1
2,

5  39 

 69 

 27,5 

 6
0 

 1
40

 

 100 

 76  24 

 40 

 30 

 ~38.9 

 1
5,

5 
 1

5,
5  ~43,4 

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

Distributore rotante 02 vie
Swivel joint 02 ways

1 3/8"G 3/8"G 10 300 Hydraulic Oil
2 3/8"G 3/8"G 10 300 Hydraulic Oil

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

68

28

78

15
3,

5

17,5

 1
8 1

47
,5

20

60

92

26

1

2

12

M8 N.3

78

60° 60°

2 1

Distributore rotante 02 vie
Swivel joint 02 ways



Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D045020200

1 3/8"G 3/8"G 10 300 Hydraulic Oil
2 3/8"G 3/8"G 10 300 Hydraulic Oil

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

68

28

78

15
3,

5

17,5

 1
8 1

47
,5

20

60

92

26

1

2

12

M8 N.3

78

60° 60°

2 1

Item code
D060020100

Distributore rotante 02 vie
Swivel joint 02 ways

10
15

M
12

 N
.2

12
1"G

68

81

11
6

 22 

72

118

15
11

23,5 23,5

30

52

2

1

21

100

M8 N.3

30°

85

30
° 30°

1

2

1 2

M6 N.2

1 3/8"G 3/8"G 10 420 Hydraulic Oil
2 3/8"G 3/8"G 10 420 Hydraulic Oil

ROTOR

1

2 2

1

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)



Item code
D060020400

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 3/8"G 3/8"G 10 420 Hydraulic Oil
2 3/8"G 3/8"G 10 420 Hydraulic Oil

208

175

Ø16,5 n.16 (at 22.5°)

16
10

55
87

15
2

54

30

130

55 55

94

144

1 2

21

ROTOR

1

2 2

1

STATOR

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D060020500

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1/2"G 1/2"G 12 420 Hydraulic Oil
2 1/2"G 1/2"G 12 420 Hydraulic Oil

114

18

M10 N.4

96

42

30° 30
°

1 2

18
10

78

12
2,

5

21

1

2

118

84

75

28
,5

51
,5

41
M

12
x1

.5

1"G

M20x1.5

1

2

ROTOR

1

2 2

1

STATOR

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

Distributore rotante 02 vie
Swivel joint 02 ways



Item code
D060020900

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

- stelo e camicia sono in alluminio
- rod and housing are in aluminium

1 3/8"G 3/8"G 10 15 Air
2 3/8"G 3/8"G 10 15 Air

 2
2 

 2
2 

 9 

 3
0°

 

 30° 

 R
48

 

 M
6 n.4 

 85 

 1
11

,5
 

 1
0 

 8
6 

 26 

 20 

 8
5 

 7 

 M
8 

n.
4 

 3
0 

 3
1 

 96 

 70 

 3
0,

5 

 5
4,

5 

ROTOR

1

2 2

1

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

CUSCINETTI
SIGILLATI

SEALED
BEARINGS

Item code
D075020100

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 1" SAE 6000 1" SAE 6000 25 420 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 420 Hydraulic Oil

 162 

 M16 n.6 

136

 60°  60° 

45° 45°

13 13

151
94

 95 

 99 

 109 

2

1

36
,574

,511
1

 1
08

 
 1

5 
 1

10
  1

0 

 3
56

,5
 

 3
6 

1 2

1

2



Item code
D075020500

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 n.2 1/2"G n.2 3/4"G 19 420 Hydraulic Oil
2 n.2 1/2"G 3/4"G 19 420 Hydraulic Oil

 130 

 M10 n.4 

 110 

 3
0 

 6
5 

 19 
 19 

 90 

 3
68

 

 1
15

 
 2

0 
 1

50
 

 2
5 

 2
4 

1 2

2

 8
5 

 17  17 

 8
5 

 127 
 
-
0
0,100 

 84 
 
-
0
0,100 

 1
5 

 5
7,

5  1
07

,5
 

 139 

 94 

 3
6,

5 

 10 
 4,5 

2

1 1

22

1 1

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D085020200

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR

1

2 2

1

ROTOR

1

2
1 3/4"G n.2 3/4"G 16 420 Hydraulic Oil
2 3/4"G n.2 3/4"G 16 420 Hydraulic Oil

149

149

100

50

30
15

4

15
65

115

32,532,5

74
,5

39

 16  16 

 3
5  6

0 

1

2

1

2

21
0

11
1

20

M
10

 n
.8

M
12

15

56
,5

15

 33,5 

 40 

 3
34

,5
 

 M
10

 n
.8

 

1

1 1

2 2



Item code
D085020400

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1/2"G 1/2"G 12 300 Hydraulic Oil
2 1/2"G 1/2"G 12 300 Hydraulic Oil

170,5

M12 n.4

150

45° 45°

1

2
74

,592
,5

14
13

16
,5

M
12

 n
.2

10

1"G

M20x1.5

 1
48

,5
 

 3
8,

5 

32 32

36
,5 64

,5

136

120

104

1

2

21

ROTOR

1

2 2

1

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D085020500

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 3/4"G 3/4"G 18 420 Hydraulic Oil
2 3/4"G 3/4"G 18 420 Hydraulic Oil

 170 

 M12 n.4 

150

 45°  45° 

2

1

12
3

1"G

M20x1.5

13
5,

5  7
8 

 2
0 

 1
3 

 R1,5 m
ax. 

 M
16

 

2a2b

100

 31  31 

 3
1  4

5  5
7 

 3
0 

 50 

 150 

1

2a

2 1



Item code
D085020600

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 3/4" SAE 6000 3/4" SAE 6000 18 420 Hydraulic Oil
2 3/4" SAE 6000 3/4" SAE 6000 18 420 Hydraulic Oil

200

10,5 N.4

170

1

2

4
10

11
5,

5

98

90

15
50

135

12
0

 2
59

 

 3
0 

1

1

80

30

57

92
,5

156

115

M10 N.4 

78

 7
0,

5 1

2

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D085020800

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 3/4"G 3/4"G 17 420 Hydraulic Oil
2 3/4"G 3/4"G 17 420 Hydraulic Oil

 3
2 

 3
2 

 50 

 R120 

 
13 N.4 

200

 45°  45° 

1

2

50

50

M20x1.5

 1
61

,5
 

 2
7,

5 

 11 

 3
5 

 1
15

,5
 

 1
6 

 1
7 

 45 

 1"G 

20

119

 115 

 150 

 4
2,

5  6
9 

 148 

1

2

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK



Item code
D105020000

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 1"SAE 6000 1"SAE 6000 25 420 Hydraulic Oil
2 1"SAE 6000 1"SAE 6000 25 420 Hydraulic Oil

70

 220 

 
13,5 n.4 

 200 

1

2

145

138

 175 

 102  102 

 2
0 

 5
0 

 2
0 

 5
0 

 1
67

 
 4

5  1
5 

2

21
2  80 

 3
0 

 1
07

 

 M
10 n.4 

 1
11

 

 4
9 

2

1

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D105020100

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

1 n.2 1/2"SAE 6000 1"SAE 6000 20 420 Hydraulic Oil
2 n.2 1/2"SAE 6000 1"SAE 6000 20 420 Hydraulic Oil

 
13,5 N.4 

 55,5 

 220 

200

 1
30

 

 2
40

 

 1
5 

 2
5 

 1
52

 

 1
67

 

 5
0 

 2
0 

 175 

 102  102 

 5
0 

 2
0 

 138 

2

1

2

1

2

 20 
 20 

 3
0 

 8
0 

 1
30

 

 110 

 145 

 1
07

 
 3

0 

 80 

 4
32

 

 M
10 N

.8 

 4
9 

 1
11

 

2

1

1

2



Item code
D105020300

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1

2 2

1

STATOR

2a

- senza la porta aggiuntiva 2a sul rotore cod.  D105020600
- without additional port (2a) on the rotor cod.  D105020600

1 1" SAE 6000 1" SAE 6000 25 420 Hydraulic Oil
2 1" SAE 6000 n.2 1"SAE 6000 25 420 Hydraulic Oil

60

8

16
0

48

176

140

 R15 

 150 

 1
3 

 1
7 

 170 max. 

1
2

Ingombro saldatura
Overall dimensions of welding

50

30

M
12

 n
.2

 
18

11
2

11
2

 1
3 

 9
8 

 126 

 1
7 

 3
01

 

2 2a

 35  35 

 7
0 

 1
35

 

 205 

 230 

 
13 N

.4
 

 R
95 

 30°  30° 

12

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D125020200

Distributore rotante 02 vie
Swivel joint 02 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1.1/4" SAE6000 1.1/4" SAE6000 30 300 Hydraulic Oil
2 1.1/4" SAE6000 1.1/4" SAE6000 30 300 Hydraulic Oil

 1
5 

 1
5 

 185 

 170 

 1
55

 
 1

45
 

 4
8 

 9
7 

 122 

 5
0 

 2
0 

1

2

155
 214 

 3
30

,5
 

 180 

 3
0 

 80 

 100 

 M10 n.4 

 8
2 

 2
35

 

 2
74

 

 90 

 134 

 R101,5 

 17 N.4 

1

2

ROTOR

1

2 2

1

STATOR



Item code
D140020100

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1.1/2" SAE6000 n.2 1.1/2" SAE6000 35 300 Hydraulic Oil
2 1.1/2" SAE6000 n.2 1.1/2" SAE6000 35 300 Hydraulic Oil

10
0

24
,8

50
25

80

17
6

20
16

2

55
0

177

170

225

M16 N.4

2

2b 2a

55
,8

4747

10,5

11
9,

7

140

2 1

P
O

S.
 1

A
-1

B

P
O

S.
 2

A
-2

B 1b

2a

35° 35°
25

° 25°

300

16
,5

 n
.4

264,5

2a2b

1b 1a

2

1

ROTOR

1

2 2a

1b

STATOR

1a

2b

Distributore rotante 02 vie
Swivel joint 02 ways

Item code
D085030200

Distributore rotante 03 vie
Swivel joint 03 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR

1

ROTOR

2
3 3

2
1

1 1"G 1"G 20 300 Hydraulic Oil
2 3/4"G 3/4"G 20 300 Hydraulic Oil
3 1"G 1"G 20 300 Hydraulic Oil

1"G

 3
7 

 3
7 

 M25x1.5 

 80 

 3
0 

 M
10 n.4 

 22 

 7
8,

5 

 4
5,

5 
 6

5 

1 3
2

3

2

1

 119 

 3
5 

 8
3,

5 
 1

1 
 6

6 
 5

0 

 2
70

 

 156 

 1
49

 

2

3

2

 
22

0 

 M12 n.4 

20
0

 45°  45° 

3

2

1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK



Item code
D145030200

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR

1

ROTOR

2
3 3

2
1

1 1.1/2" SAE6000 1.1/2" SAE6000 38 420 Hydraulic Oil
2 1.1/2" SAE6000 1.1/2" SAE6000 38 420 Hydraulic Oil
3 1"G 1"G 25 420 Hydraulic Oil

 290 

 
13 n.6 

 15°  1
5°

 

 30°  30° 

 265 

3

21

 185 

 210 

 180 

 6 

 7
1 

 14 

 1
62

,5
 

 1
14

 

 5
8 1

2

3

 240 

 2
73

,5
 

 4
4  4
 

 1
2 

 2
01

 

 3
0 

 30  30 

 2
0 

 9
4 

 1
00

 

Distributore rotante 03 vie
Swivel joint 03 ways

Item code
D045040100

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 3/8"G 3/8"G 10 300 Hydraulic Oil
2 3/8"G 3/8"G 10 300 Hydraulic Oil
3 1/4"G 1/4"G 6 300 Hydraulic Oil
4 1/4"G 1/4"G 6 300 Hydraulic Oil

 
7 n.4 

 1
6,

5 
 1

6,
5 

 17,5  17,5 

 80 

 45°  45° 

 5
1 

 10 

 3
0 

 94 

 44 

 62 

 94 

 8,5 

4

3

 1
4 

 1
0 

 4
1 

 7
8 

 2
1 

 6
0 

 9
5 

 1
26

,6
 

 M
10 

1

2

3

4

Distributore rotante 04 vie
Swivel joint 04 ways



Item code
D045040200

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 1/4" NPT 1/4" NPT 6 300 Hydraulic Oil
2 1/4" NPT 1/4" NPT 6 300 Hydraulic Oil
3 1/4" NPT 1/4" NPT 6 300 Hydraulic Oil
4 1/4" NPT 1/4" NPT 6 300 Hydraulic Oil

 R41 

 7
,5

 

 35 

 70 

1

2

3

4

 4
0,

2 

 8
7,

7 

 6
3,

7 

 1
11

,7
 

 1
60

,1
 

1

2

3

4

 82 

 44 

 60 

 55 

 1
40

,7
 

 7
 

 3
,3

 

2

4

Distributore rotante 04 vie
Swivel joint 04 ways

Item code
D060040000

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

 
9 n.3 

 140 

 M
8 n.3 

124

47

 30°  30° 

1

2

3

4

29

51

73

95

12

M
12

 1
63

 

 20 

 1"G 

1

2

3

4

114

12

M
12

 80 

 1
2 

 1
31

 

 1
18

 
 1

0 

1 3/8"G 3/8"G 9 420 Hydraulic Oil
2 3/8"G 3/8"G 9 420 Hydraulic Oil
3 3/8"G 3/8"G 9 420 Hydraulic Oil
4 3/8"G 3/8"G 9 420 Hydraulic Oil

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

Distributore rotante 04 vie
Swivel joint 04 ways



Item code
D060040100

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 M22x1.5 M22x1.5 12 300 Hydraulic Oil
2 M22x1.5 M22x1.5 12 300 Hydraulic Oil
3 M22x1.5 M22x1.5 12 300 Hydraulic Oil
4 M22x1.5 M22x1.5 12 300 Hydraulic Oil

21

51

84

111

11
0

80

47

15

M10 n.2

1

2

3

4

4

R85

70
°

14 n.3

40

60°60°

35°

R
70

4

2

1 3

10
48

19
0 13

3

82

19

3

1

Item code
D060040300

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 1/2"G 1/2"G 12 420 Hydraulic Oil
2 1/2"G 1/2"G 12 420 Hydraulic Oil
3 1/2"G 1/2"G 12 420 Hydraulic Oil
4 1/2"G 1/2"G 12 420 Hydraulic Oil

150

56

32,5

30
°

30°

 M
8 n.4 

125

45°

41

3 2

7515
0

40
10

1

99

150

 2
5 

 1
2 

 18,5 

 1
2 

 12,5 n.2 

3

1

41

75

74

24

100

30
2

18

58

 3
8 

 7
8 1

3

2

4

4 2



Item code
D060040400

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 1/2"G 1/2"G 12 420 Hydraulic Oil
2 1/2"G 1/2"G 12 420 Hydraulic Oil
3 3/8"G 3/8"G 10 420 Hydraulic Oil
4 3/8"G 3/8"G 10 420 Hydraulic Oil

 114 

 M10 n.4 

96

 R
22 

pos. 
1-2

 R23,5 

pos. 3-4

31

2

4

75

118

 1
61

,5
 

 1"G 

 14 

 1
0 

3

1

M
12

 38,5 

 1
7 

 1
0 

 1
13

 

 7
0,

5 

 2
9  4

9  6
3 

 9
0,

5 

 84 

1

2

3

4

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

Item code
D060040600

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 1/2"G 1/2"G 13 420 Hydraulic Oil
2 1/2"G 1/2"G 13 420 Hydraulic Oil
3 1/4"G 1/4"G 10 420 Hydraulic Oil
4 1/4"G 1/4"G 10 420 Hydraulic Oil

120

M
8 N

.4

19
19

21,521,5

62

 40° 

 4
0°

 

1

2

3 4

84

14
6

90

120

84
14

M
16

 1
2 

25

67

46
,5

86

80 5

24
11

1

1

2

3

4



Item code
D085040200

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 3/4"G 3/4"G 16 300 Hydraulic Oil
2 3/4"G 3/4"G 20 300 Hydraulic Oil
3 3/8"G 3/8"G 10 300 Hydraulic Oil
4 1/2"G 1/2"G 12 300 Hydraulic Oil

30°

 
9 n.8 

 30° 

 30° 

 185 
161

64 57

 45°  45° 

1

4 3
2

3

4
2

1

150

25
,5

119

 99 

 2
1  1

0 
 1

85
 

 2
41

,5
 

1

3

4

2

42
75

,510
6,

513
4,

5

1"G

 2
0 

 4
0 

 15 

 M
12

 n
.2

 

 16x1.5 

 22 

1
2

3

4

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

Item code
D085040400

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 3/4"G 3/4"G 16 300 Hydraulic Oil
2 1/2"G 1/2"G 16 300 Hydraulic Oil
3 3/4"G 3/4"G 16 300 Hydraulic Oil
4 3/8"G 3/8"G 16 300 Hydraulic Oil

22

23
9

55

 
20

 

 22 

 1"G 

 3
1 

 7
6 

 M25x1.5 

1

3

1 3
2

 22 
 13 n.8 

 50 

 R140 

 22,5° 

R125

R97,5

 132 

 45°  45° 

3

2

1

4

120

 152 

 5
4 

 2
0 

 1
28

 
 8

5 3

4

2



Item code
D085040600

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1/2"G 1/2"G 14 300 Hydraulic Oil
2 1/2"G 1/2"G 14 300 Hydraulic Oil
3 1/2"G 1/2"G 14 300 Hydraulic Oil
4 1/2"G 1/2"G 14 300 Hydraulic Oil

150

 M10 n.4 

95

62

45° 45°

15

115

7,5

40
13

9

30

20
5,

5

25

80
15

25

 1"G 

 45 

 2
0 

32

57

120

50

M
10 n.4

82

10
7

1

2

3

4

Item code
D085040800

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"G 1"G 20 300 Hydraulic Oil
2 1"G 1"G 24 300 Hydraulic Oil
3 3/4"G 3/4"G 20 300 Hydraulic Oil
4 3/4"G 3/4"G 20 300 Hydraulic Oil

 220 

 M12 n.4 

200

 45°  45° 

4

1

3

2

120

 8
6 

 1
1 

 1
97

 

 3
20

 

 156 

 90 

 5
0 

 8
8 

 119 

3 4

3

1

1

1"G

 3
0 

 80 

 5
6,

5  1
25

,5
 

 9
2 

 1
57

 

 M10 n.4 

 3
6 

 21 

 45 

1

2

3

4

1 2
4



Item code
D085041100

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 3/8"G 3/8"G 10 420 Hydraulic Oil
2 1/2"G 1/2"G 14 420 Hydraulic Oil
3 3/4"G 3/4"G 18 420 Hydraulic Oil
4 3/4"G 3/4"G 18 420 Hydraulic Oil

M10x1.5

95

62

45°45°

1

2

3 4

35

89

58

12
5

40

22
2,

515
6

22

15

 2
0 

 1"G 

 45 

1
2

3

4

30

50

45

10
0

10

150

120

116

M
10 n.4

Distributore rotante 04 vie
Swivel joint 04 ways

Item code
D085041900

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

 220 

 2
9 

 13 n.4 

 200 

 45°  45° 

 62 

4

3

1

2

 100 

 7 

 148 

 45 

 1"G 

 20 

2

1

 25  25 

 3
0 

 8
7 

 3
9 

 9
2 

 6
7 

 1
11

 

 1
37

 

 1
89

,5
 

 1
6 

 1
0 

 M
10

 n
.4

 

1

2

3

4

1 1/2"G 1/2"G 12 300 Hydraulic Oil
2 3/4"G 3/4"G 18 300 Hydraulic Oil
3 1/4"G 1/4"G 6 300 Hydraulic Oil
4 1/4"G 1/4"G 6 300 Hydraulic Oil



Item code
D100040200

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"G 1"G 20 420 Hydraulic Oil
2 1"G 1"G 20 420 Hydraulic Oil
3 3/4"G 3/4"G 15 420 Hydraulic Oil
4 1/2"G 1/2"G 12 420 Hydraulic Oil

53
10

169

50

102

16
7

39

74

10
7 13

7

98

174

1

4

3

2
30

80

24
2

M
10 n.4

1"G

27

 6
1 

270

 
13,5 n.6 

120

235

30
°

30°

2

3
4

1

Item code
D145040200

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 1" 1/4 G 1" 1/4 G 30 300 Hydraulic Oil
2 1" 1/4 G 1" 1/4 G 30 300 Hydraulic Oil
3 1"G 1"G 20 300 Hydraulic Oil
4 3/4"G 3/4"G 18 300 Hydraulic Oil

 170 

 3
0 

 1
6  4
 

 80 

 3
0 

 1
31

 

 9
1,

5 
 1

60
 

 4
9,

5 
 1

29
,5

 

 37 

1

3

2

4

182

 200 

 1
91

 

 5
0 

 2
53

,5
 

 218 

3

1

 250 

 
13,5 n.8 

230

10
5

 45°  45° 

4

1

2

3



POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 3/4"G 3/4"G 16 300 Hydraulic Oil
2 1"G 1"G 22 300 Hydraulic Oil
3 1" 1/4 G 1" 1/4 G 20 n.2 300 Hydraulic Oil
4 1/2"G 1/2"G 12 300 Hydraulic Oil
5 1/2"G 1/2"G 12 300 Hydraulic Oil

 233 

 
13

 n
.5

 

 3
3 

 80 

 1
8°

 

 36°  36° 

 18° 

20
0

41 5

32

119

 2
8  6

3  1
10

  1
48

  2
16

,5
 

 156 

 9
4 

 3
5 

 120 

 24 

 1
2 

 1
5 

 1
20

 

 10  108 

 1"G 

 1
72

 

1 2

3

4

5

3
1

 165 

 4
 

 1
6 

 3
22

,5
 

 40 

4

5

1

1 5

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

Item code
D085050200

Item code
D170040100

Distributore rotante 04 vie
Swivel joint 04 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 2.1/2" SAE3000 2.1/2" SAE3000 63 420 Hydraulic Oil
2 1.1/2" SAE6000 1.1/2" SAE6000 36 420 Hydraulic Oil
3 2.1/2" SAE3000 2.1/2" SAE3000 63 420 Hydraulic Oil
4 1.1/2" SAE3000 1.1/2" SAE3000 36 420 Hydraulic Oil

 
40 

 
40 

 367 

24

1

3

 271,5 

 65 

 1"G 

 30 

 1
65

 

 6
5 

 6
5 

 1
65

 

 10  10 

 227 

 M
14

 n
.8

 

 6
0 

 4
0 

2

1

 5
5 

 1
37

 

 5
53

,5
 

 9
4 

 2
48

 

 1
70

,5
 

 3
23

  3
95

 

 80 

 =  = 

 1
20

 

1

2

3

4

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

Distributore rotante 05 vie
Swivel joint 05 ways



Item code
D100050100

Item code
D085050600

Distributore rotante 05 vie
Swivel joint 05 ways

Distributore rotante 05 vie
Swivel joint 05 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1" SAE 6000 1" SAE 6000 22 300 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 22 300 Hydraulic Oil
3 1/2"G 1/2"G 13 300 Hydraulic Oil
4 1/2"G 1/2"G 13 300 Hydraulic Oil
5 3/8"G 3/8"G 13 30 Hydraulic Oil

 M12 n.4 

 220 

175

60

 45°  45° 

3 45

20
7

78

154

106

16

 4
41

,5
 

 104 

 123 

 139 

 4
3 

3

5

1

1

50

52
,5

10
1,

5

16
1

13
518

5
 1

10
 

 1
5 

 9
6 

1

2

3

4
5

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 3/4"G 3/4"G 18 420 Hydraulic Oil
2 3/4"G 3/4"G 18 420 Hydraulic Oil
3 3/4"G 3/4"G 18 420 Hydraulic Oil
4 1"G 1"G 22 420 Hydraulic Oil
5 1"G 1"G 22 420 Hydraulic Oil

78
15

7,
5

40
11

6

20
2,

5

50

30
30

173

138

 22 

1

2

3

4

5

6,5

24
6

15

M
10

 n
.8

 2
94

 

 137 

 8
 

 9
0 

2

4

 218,5 

 M
12

 n
.4

 

200

77

 2
4°

  24° 

 41°  41° 

1

2

45

3

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1



Item code
D100050500

Item code
D100050400

Distributore rotante 05 vie
Swivel joint 05 ways

Distributore rotante 05 vie
Swivel joint 05 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 3/8"G 3/8"G 14 380 Hydraulic Oil
2 3/8"G 3/8"G 14 380 Hydraulic Oil
3 1/2"G 1/2"G 14 380 Hydraulic Oil
4 1"G 1"G 22 380 Hydraulic Oil
5 1"G 1"G 22 380 Hydraulic Oil

30
50

174

22

 4
3 

 8
7 

 1
46

 

 137 

 6
5 

 1
14

 

 160 

 220 

1

3

5

2

4

15

M
10

 n
.8

8080

 125  8
 

 1
0 

 1
5 

 1
79

,5
 

 2
12

,5
 

4

2

 220 

 
13 n.4 

R36
R38

200

 29°  45° 

 29°  45° 

5

4
2

1

3

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

 
13 n.4 

 28°  35 

 15° 

 14° 

 4
3°

 

 R135 

 1
4°

 

R120

 4
5°

 

 45° 

2

3

4 5

1

 175 

 2
06

 
 8

0 

 3
2 

 1
5 

 145 

 165 

 1
5 

24 5

2

4

64

60
64

 38,5 

 1"G 

 2
86

 

 6
2  3

36
 

 1
8,

5 

 3
4 

52 1

4

2

5

3

1

1 1/2"G 1/2"G 14 400 Hydraulic Oil
2 1"G 1"G 22 400 Hydraulic Oil
3 1"G 1"G 22 400 Hydraulic Oil
4 1"G 1"G 22 400 Hydraulic Oil
5 1"G 1"G 22 400 Hydraulic Oil



Item code
D100050800

Item code
D110050100

Distributore rotante 05 vie
Swivel joint 05 ways

Distributore rotante 05 vie
Swivel joint 05 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

- stelo e camicia sono in acciaio inox
- rod and housing are in stainless steel

1 1"1/4G (n.2) 1"1/4G (n.2) 30 300 Water
2 3/8"G 3/8"G 10 400 Hydraulic Oil
3 3/8"G 3/8"G 10 400 Hydraulic Oil
4 3/8"G 3/8"G 10 400 Hydraulic Oil
5 3/8"G 3/8"G 10 400 Hydraulic Oil

 250 

 12,5 n.4 

 25°  2
5°

 

 230 

 45°  45° 

 7
2 

 1
67

,5
 

 2
17

,5
 

 2
0 

 1
02

 

 4
5 

 3
7 

 157 

 143 

 13 

3

1

4

 2
42

,5
 

 1
92

,5
 

 2
87

 

 1"G 

 18 
 M20x1.5 

 1
41

 

 185 

 M10 n.4 
 50 

 2
02

 
 3

0 

 4
22

 

23

1

2

34

5

1

4 5

1

2 3

1

4

2

1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

CUSCINETTI
SIGILLATI

SEALED
BEARINGS

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

1  1"5/16-12 UN  1"5/16-12 UN 20 300 Hydraulic Oil
2  1"5/16-12 UN  1"5/16-12 UN 10 300 Hydraulic Oil
3  1"5/16-12 UN  1"5/16-12 UN 10 300 Hydraulic Oil
4  1"5/16-12 UN  1"5/16-12 UN 10 300 Hydraulic Oil
5  1"5/16-12 UN  1"5/16-12 UN 10 300 Hydraulic Oil

 292 

 2
92

 

 15,9 

 1
5,

9 

 260,2 

 2
60

,2
 

 R203,2 

 88 

 
16 n.4 

 12,7 

 
48 

 84 

 18°  1
8°

 

 5
4°

  54° 

1

2

34

5

 3
2 

 6
6 

 6
6 

 8
 

 3
6 

 4
5 

 1
96

 

 2
54

 

 50 

 24 

 3/4" NPT 

 6
5 

 6
6 

1

2

3

4
5

 1
50

 
 3

0 

 158 

 190 

 M
10

 n
.4

 

 12 

4

2



Item code
D145050100

Item code
D140050100

Distributore rotante 05 vie
Swivel joint 05 ways

Distributore rotante 05 vie
Swivel joint 05 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 3/4"G 3/4"G 20 300 Hydraulic Oil
2 3/4"G 3/4"G 20 300 Hydraulic Oil
3 1"1/2 SAE 6000 1"1/2 SAE 6000 35 300 Hydraulic Oil
4 1"1/2 SAE 6000 1"1/2 SAE 6000 35 300 Hydraulic Oil
5 1"1/2 SAE 6000 1"1/2 SAE 6000 35 300 Hydraulic Oil

40

 200 

 30° 

 30° 

 6
0°

 

 60° 

 
35

0 

 
17 n.4 

30
0

 4
5°

 

 45° 

1

2

3

4

5

15

59
2

177

 2
04

 

 250 

 2
0 

 1
6 

 3
18

,5
 

4

48

 30 

 1"G 
 225 

 1
91

 

 7
2 

 4
0 

 2
59

,5
 

 1
22

,5
 

12

3

4

5

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1/2"G 1/2"G 12 350 Hydraulic Oil
2 2" SAE 3000 2" SAE 3000 50 350 Hydraulic Oil
3 1"1/2 SAE 6000 1"1/2 SAE 6000 38 350 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil
5 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil

50°

85 85

53

33

300

270

11
5

11
5

45

 
17 n.4 

150

2

45

3

20

10

28
4

12
3

43
5

164

12

2

4

2

70

18
5,

5

13
4

23
2,

5

242

169

57

240

1

2

3

4

5

4



Item code
D145050400

Item code
D145050300

Distributore rotante 05 vie
Swivel joint 05 ways

Distributore rotante 05 vie
Swivel joint 05 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1
2
3
4

5B

4
3

STATOR

2
1

ROTOR

5A
5B
5A

 M16 n.4 

 175 

 45°  45° 

 234 

 1
06

 

 5
0  7

0 

 5
 

 8
5 

 6
5,

5 

 5
1,

5 

 1
64

 

 150 

 202 

2 2
8 

 7
4 

 1
63

,5
 

 3
26

 
 1

4,
5 

 1"1/2G 

 40 

 5
0 

 1
30

  90 

 3
54

,5
 

M12 n.4 22 

1

5a 5b

4

3

5b

1

3

5b

1 3

4

2

5a

1 3/4"G 3/4"G 16 320 Hydraulic Oil
2 1/2"G 1/2"G 12 320 Hydraulic Oil
3 3/4"G 3/4"G 16 320 Hydraulic Oil
4 1"1/4 SAE 6000 1"1/4 SAE 6000 32 380 Hydraulic Oil

5a 1"1/2 SAE 3000 
(n.2)

1"1/2 SAE 3000 
(n.2) 50 380 Hydraulic Oil

5b

 350 

 
14,5 n.6 

310

100

 3
0°

  30° 

 30°  30° 

1 2

3 4

5

31
1

45
1,

5

11
0

15
,5179

50

 270 

 4
 

 1
5 

5

3

1

5

45

20179

53
,5

18
0,

525
5,

5

12
9 20

6,
5

240

40

161,5

1

2

3
4

5

2

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5 5

ROTOR

1
2

STATOR

3
4 4

3
2
1

1 2"G 2"G 48 300 Hydraulic Oil
2 2"G 2"G 48 300 Hydraulic Oil
3 3/8"G 3/8"G 10 300 Hydraulic Oil
4 3/8"G 3/8"G 10 300 Hydraulic Oil
5 1"1/2 G 1"1/2 G 36 30 Air



Item code
D085060100

Item code
D075060100

Distributore rotante 06 vie
Swivel joint 06 ways

Distributore rotante 06 vie
Swivel joint 06 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1/2"G 1/2"G 12 350 Hydraulic Oil
2 1/2"G 1/2"G 12 350 Hydraulic Oil
3 1/4"G 1/4"G 6 350 Hydraulic Oil
4 1/4"G 1/4"G 6 350 Hydraulic Oil
5 1/4"G 1/4"G 6 350 Hydraulic Oil
6 1/4"G 1/4"G 6 350 Hydraulic Oil

 12,5 n.4 

 190 

165

 
53

 

 
56

 

 45°  45° 

 2
5°

 

 25° 

1

2

3

4 5

6

 M
10

  n
.4

 

 6
0  12 

 62,5 

 1
0  1"G 

 90 

 2
 

 1
0 

 2
7 

 1
54

 

 2
03

,5
 

 16 

5

3

1

30

15

40

 135 

 4
1 

 3
9 

 3
8 

 3
8 

 3
0  5

1 

 130 

5

3

1

6

4

2

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

1 3/8"G 3/8"G 10 380 Hydraulic Oil
2 3/8"G 3/8"G 10 380 Hydraulic Oil
3 3/8"G 3/8"G 10 380 Hydraulic Oil
4 3/8"G 3/8"G 10 380 Hydraulic Oil
5 3/8"G 3/8"G 10 380 Hydraulic Oil
6 3/8"G 3/8"G 10 380 Hydraulic Oil

 12,5 n.4 

 190 

165

59

 45°  45° 

1

2

3

4

5

6

M
10

 n
.4

14

68

 90 

 130 

 2
 

 2
7 

 1
0 

 1
91

 

 2
54

,5
 

30
15

40

145

50
50

50
50

1"G

 18 

 5
9 

 3
4 

 M20x1.5 

5

3

1

6

4

2



Item code
D100060000

Item code
D085060200

Distributore rotante 06 vie
Swivel joint 06 ways

Distributore rotante 06 vie
Swivel joint 06 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

1 3/8"G 3/8"G 10 350 Hydraulic Oil
2 3/8"G 3/8"G 10 350 Hydraulic Oil
3 3/4"G 3/4"G 18 350 Hydraulic Oil
4 3/4"G 3/4"G 18 350 Hydraulic Oil
5 3/4"G 3/4"G 18 350 Hydraulic Oil
6 3/4"G 3/4"G 18 350 Hydraulic Oil

 
22

0 

 
13 n.4 

 1
5°

 

 3
7°

 

 190 

 45°  45° 

 30° 

 8° 

 8
53

 
 1

1,
5 

 1
86

 
 1

1 

 3
9  9

1,
5 

 1
47

,5
 

 8
 

 5
0 

 5
5 

 100 

 2
5 

1

2 3
4

5

6

 156 

 1
19

,5
 

 6
3,

5 

 1
8 

 160 

 85 

 3
0 

 4
9 

 4
 

 6
09

 

 117 

1

4

6

2

3

5

2

3

5

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

1 1"G 1"G
20 350 Hydraulic Oil

2 1"G 1"G
3 3/4"G 3/4"G 15 350 Hydraulic Oil
4 3/4"G 3/4"G 15 350 Hydraulic Oil
5 1/2"G 1/2"G 12 350 Hydraulic Oil
6 1/2"G 1/2"G 12 350 Hydraulic Oil

169

 8
0,

5 
 1

0 

 174 

 1
96

 
 1

0 

 5
3 

27
1

30

1"G

 3
9  7

2  1
05

 

 3
9 

 1
36

,5
  1

66
 

1 2

3
4 5

6

 185 

 100 

 
13

,5
 n

.6
 

 270 

120

235

 30°  30° 

3

61

5

2 4

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK



Item code
D105060100

Item code
D100060100

Distributore rotante 06 vie
Swivel joint 06 ways

Distributore rotante 06 vie
Swivel joint 06 ways

 220 

200

 5° 

 26° 

 3
9°

  39° 

 3
1°

 

 76 

1

2

3 4

5 6

15

22
30 75

7

 1"G 

 1
98

 
 1

0 

 2
37

,5
 

 22  4
 

 1
4 

5

3

1

50

29

73

12
2

51

95

15
4

174

140

 125 

 160 

6

4

2

1

3

5

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

1 3/8"G 3/8"G 10 380 Hydraulic Oil
2 1/4"G 1/4"G 10 380 Hydraulic Oil
3 1/2"G 1/2"G 14 380 Hydraulic Oil
4 1/2"G 1/2"G 14 380 Hydraulic Oil
5 3/4"G 3/4"G 18 380 Hydraulic Oil
6 1"G 1"G 22 380 Hydraulic Oil

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

5

1
2
3
4

66

4
3

STATOR

2
1

ROTOR

5

1 1"G 1"G 20 380 Hydraulic Oil
2 1"G 1"G 20 380 Hydraulic Oil
3 3/4"G 3/4"G 16 380 Hydraulic Oil
4 3/4"G 3/4"G 16 380 Hydraulic Oil
5 1/2"G 1/2"G 12 380 Hydraulic Oil
6 1/2"G 1/2"G 12 380 Hydraulic Oil

 3
0°

  30° 

 220 

 M12 n.6 
200

2

6

45

1

3

 1
1 

 2
27

 

 1
62

 

 99,5 

 9
2 

 3
44

 

2

3

6

3 2 6

 135 

 3
0 

 80 

 175 

 8
0 

 1
43

 

 1
97

 

 4
4 

 1
13

  1
71

 

 3
2 

M10 n.4

1

2

3

4

5

2
6 4

1

6



Item code
D060070200

Item code
D060070100

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

28

 
16,5 n.16 

 45° 

 208 

 17 

175

22
,5

°

1 2

3

4

56

7

 6
5 

 2
36

,5
 

3
21

144

 1
60

 
 1

0 
 5

5 

 94 

 70 

1 5
432

1 3/8"G 3/8"G 10 300 Hydraulic Oil
2 3/8"G 3/8"G 10 300 Hydraulic Oil
3 3/8"G 3/8"G 10 300 Hydraulic Oil
4 3/8"G 3/8"G 10 300 Hydraulic Oil
5 3/8"G 3/8"G 10 300 Hydraulic Oil
6 3/8"G 3/8"G 10 300 Hydraulic Oil
7 3/8"G 3/8"G 10 300 Hydraulic Oil

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1/4"G 1/4"G 6 320 Hydraulic Oil
2 1/4"G 1/4"G 6 320 Hydraulic Oil
3 1/4"G 1/4"G 6 320 Hydraulic Oil
4 1/4"G 1/4"G 6 320 Hydraulic Oil
5 1/4"G 1/4"G 6 320 Hydraulic Oil
6 1/4"G 1/4"G 6 320 Hydraulic Oil
7 1/4"G 1/4"G 6 320 Hydraulic Oil

 68 

 70  70 

 5
0 

 R85  R85 

 
13 n.2 

 60°  60° 

 50 

6

 1
1 

 1
66

 

 2
9 

 1
37

 

 1
4 

 4
 

 
15

 

 1
3,

5 

 80 

 114 

 110 

 2
0,

5  5
2,

5  8
4,

5 

 1
16

,5
 

 3
6,

5  6
8,

5  1
00

,5
 

1

1

2

34

5
7

3

5

7

1

3

5

7

2

4

6



Item code
D100070000

Item code
D085070100

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 3/8"G 3/8"G 10 320 Hydraulic Oil
2 1/2"G 1/2"G 12 320 Hydraulic Oil
3 1/2"G 1/2"G 12 320 Hydraulic Oil
4 1/2"G 1/2"G 12 320 Hydraulic Oil
5 1/2"G 1/2"G 12 320 Hydraulic Oil
6 1/2"G 1/2"G 12 320 Hydraulic Oil
7 1/2"G 1/2"G 12 320 Hydraulic Oil

 200 

 
10,5 n.4 

182

66

 3
0°

  30° 

2

7

54

6

 1
89

 

 2
,5

 

 7
,5

 

 99 

 150 

 5
0 

 4
0 

 85 

 2
53

 

7

5

3

1

105

 144 

 80 

 3
0 

 3
7,

5  7
9 

 1
21

  1
63

 

 5
8 

 1
00

  1
42

 

 3
0 

 12 

 1"G 

 4
6,

5 

1

2

4

6

7

5

3

1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1/4"G 1/4"G 8 350 Hydraulic Oil
2 1/4"G 1/4"G 8 350 Hydraulic Oil
3 1/2"G 1/2"G 14 350 Hydraulic Oil
4 1"G 1"G 22 350 Hydraulic Oil
5 1"G 1"G 22 350 Hydraulic Oil
6 1"G 1"G 22 350 Hydraulic Oil
7 1"G 1"G 22 350 Hydraulic Oil

  145  

  4
2 

 
  4

0 
   8

8 
   1

5 
 

  1
5 

 

  2
31

  

  175  

2

4

6

38,5

  165  

  3
76

  

  3
2 

   7
4 

   1
34

  

  1
98

  

  5
2 

   1
02

    1
66

  

1
2

3

4

5

6

7

  35  

  40  

  1
5°

  

  R135  

  
13 n.4  

R120

  45°    45°  

1

2

4

6

5

3

7



Item code
D110070100

Item code
D100070200

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1"G 1"G 22 380 Hydraulic Oil
2 1"G 1"G 22 380 Hydraulic Oil
3 3/4"G 3/4"G 18 380 Hydraulic Oil
4 3/4"G 3/4"G 18 380 Hydraulic Oil
5 3/4"G 3/4"G 18 380 Hydraulic Oil
6 1/2"G 1/2"G 14 380 Hydraulic Oil
7 1/2"G 1/2"G 14 30 Hydraulic Oil

219

50° 50°

10
° 10°

30° 30°

M12 n.4

200

45° 45°

1

7

3

52

6

4

99,5

50

85

14

135

36

26
5

37
7

2

4

6

4 71

35

175

91

53

15
4,

5

12
4,

5

21
2,

5

18
5 23

8,
5

138

28

M
10 n.4

80

30

1

2

3

4

5

6

7

537

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
3 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
5 1/2"G 1/2"G 12 380 Hydraulic Oil
6 1/2"G 1/2"G 12 380 Hydraulic Oil
7 1/2"G 1/2"G 12 300 Hydraulic Oil

30
° 30°

220

12,5 n.4

200

1

2

3

4

5

6

7

145

160

28

29
6

42
6

M
24

x1
.5

17
8

21

5

3

1

7

35 1

195

62
,5

14
7,

5

22
4

10
5

19
0

25
0

15 5

11
0

45

1

2

3

4

5
6

31



Item code
D124070100

Item code
D110070200

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 3/8"G 3/8"G 10 380 Hydraulic Oil
2 3/8"G 3/8"G 10 380 Hydraulic Oil
3 3/8"G 3/8"G 10 380 Hydraulic Oil
4 1/2"G 1/2"G 14 380 Hydraulic Oil
5 1/2"G 1/2"G 14 380 Hydraulic Oil
6 1"G 1"G 22 380 Hydraulic Oil
7 1"G 1"G 22 380 Hydraulic Oil

 220 

 13 n.4 

 200 

 25°  25° 

 
88

 

 
86

 

 81 
 2

3°
 

 33° 

 185 

 3
9  2

7 
 8

 

 4
 

 15 
 18 

 2
7 

 7
5 

 22 

 3
9 

 9
0 

 1"G 

 3
0 

 2
22

 

 M
10

 n
.4

 

 1
26

  1
87

  2
17

 

 50 

 133 

 1
54

 
 1

00
 

 5
1 1

2
3

4
5

6
7

1

2

3
45

6 7

2

4

6

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1"G 1"G 25 300 Hydraulic Oil
2 1"1/4 G 1"1/4 G 30 350 Hydraulic Oil
3 1"1/4 G 1"1/4 G 30 380 Hydraulic Oil
4 1"1/4 G 1"1/4 G 30 380 Hydraulic Oil
5 1"1/4 G 1"1/4 G 30 380 Hydraulic Oil
6 1/2"G 3/4"G 12 380 Hydraulic Oil
7 1/2"G 1/2"G 12 380 Hydraulic Oil

290

13 n.6

20° 20°

20° 20
°

50° 50°

265

30°30°

1

2

3

67

3

5

117,5 117,5

50
50

35

50
50

35
0,

5
95

15

41

 4
73

,5
 

1

3

5

7

80

30

177

49
,5

13
5

23
330

5,
5

88
,5

18
5

27
5

45

210

M10 n.8

 156 

1

2

3

4

5

6
7



Item code
D124070300

Item code
D124070200

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1/2"G 1/2"G 18 380 Hydraulic Oil
2 1/2"G 1/2"G 18 380 Hydraulic Oil
3 1/2"G 1/2"G 18 380 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
5 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
6 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil
7 1" SAE 6000 1" SAE 6000 25 380 Hydraulic Oil

40

 45°  45° 

 2
00

 

 350 

 17 n.4 

 162 

300

12

3

4

7

6 5

60

175

 217 

 6
9,

5 

 1
00

,5
  1
83

  2
75

 

 3
9 

 1
37

,5
  2
29

 

2

4

1

1

2

3

4

5

6

7

15
49

4,
5

30

 4
 

 250 
-
-
0,100
0,200 

 1
19

 
 1

6 
 3

21
 

 1"G 
 50 

1 5

6

1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
2 1"G 1"G 25 300 Hydraulic Oil
3 1"G 1"G 25 300 Hydraulic Oil
4 3/4"G 3/4"G 19 300 Hydraulic Oil
5 3/4"G 3/4"G 19 300 Hydraulic Oil
6 3/8"G 3/8"G 10 300 Hydraulic Oil
7 1/2"G 1/2"G 12 300 Hydraulic Oil

 298 

 265 

 3
0°

 

 20° 

 25°  25° 

 30° 

 2
0°

 

 
13,5 n.6 

 3
47

,5
 

 1
0 

 9
5 

 1
5 

 4
85

,5
 

 177 

 200 

 8
1 

 1
71

 

 2
42

  2
97

,5
 

 2
07

,5
 

 8
0 

 4
0 

 2
0 

 40 
 M10 n.4 

 4
5 

 2
71

,5
 

 2
08

 

 1
31

 

 1"G 

 24 

6

4

2

1

23

45

67

7

5

3

1

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

CUSCINETTI
SIGILLATI

SEALED
BEARINGS



Item code
D145070200

Item code
D145070100

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 M33x2 M33x2 24 300 Hydraulic Oil
2 M18x1.5 M18x1.5 12 300 Hydraulic Oil
3 M18x1.5 M18x1.5 12 300 Hydraulic Oil
4 1"1/2 SAE 6000 1"1/2 SAE 6000 38 300 Hydraulic Oil
5 1"1/2 SAE 6000 1"1/2 SAE 6000 38 300 Hydraulic Oil
6 1"1/2 SAE 6000 1"1/2 SAE 6000 38 300 Hydraulic Oil
7 1"1/2 SAE 6000 1"1/2 SAE 6000 38 300 Hydraulic Oil

22°22°

17 n.7

37,5° 37,5°

22,5° 22
,5

°

345

30°30
°

320

12 3

4 5

6 7

45

M
16 n.4

68

26

55

15
5

15

8

90

216

13
8

24
7

37
1

202

1
2

3

4

5

6

7

7 5
1

3

290 - 0,300
- 0,100

248

80

65
7,

5

18
3

46
3

1

3

5

7

76

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
2 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
3 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
4 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
5 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
6 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil
7 1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil

350

39°39
°

12° 12
°

27° 27°

17 n.4

300

1

6

4

27

5

3

41
2

16 4

13
6

8

55

1"G
245

60
3,

5

25

7

5

3

1

47

14
9

25
1

35
3

98

20
0

30
2

18
6

42

16
3,

5

25 n.2

200

180

36

146
40

1

2

3

4

5

6

7



Item code
D195070000

Item code
D145070300

Distributore rotante 07 vie
Swivel joint 07 ways

Distributore rotante 07 vie
Swivel joint 07 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
2 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
3 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
4 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
5 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
6 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
7 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil

51°51°

290

27°27°

12
°12°

265

30°30°

1

2

3

45

6

7

19
4

19
4

50 50

11
4

12
4

225

57
7,

5

136 136

1

3

5

7

217

60
17

0

28
0

39
0

11
5

22
5

33
5

179

240

198

80

30 43
6

M
10 

n.8

1

3

5

2

4

6

7

4
32

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
77

6
5

ROTOR

1
2

STATOR

3
4

1 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
2 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
3 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
4 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
5 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
6 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil
7 1" 1/2 G 1" 1/2 G 36 300 Hydraulic Oil

 3
9°

 

 12° 

 39° 

 1
2°

 

 370 

 17 n.6 

330

 30°  30° 

1

7

2

53

4

6

 249 

 1
24

  4
 

 1
6 

 5
0 

 2
56

 

 6
87

,5
 

 5
0 

 2
56

 

 5
24

 

1

3

5

7

217

238

 300 

 6
8 

 2
03

  3
38

 

 4
73

 

 1
35

,5
  2

70
,5

  4
05

,5
 

 80 

 3
0 

 280 

 M
10 n.8 

1

3

5

2

4

6

7

432



Item code
D100080100

Item code
D085080000

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 08 vie
Swivel joint 08 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 3/4"G 3/4"G 16 300 Hydraulic Oil
2 1/2"G 3/4"G 12 300 Hydraulic Oil
3 3/4"G 3/4"G 16 300 Hydraulic Oil
4 1/2"G 3/4"G 12 300 Hydraulic Oil
5 3/4"G 1/2"G 16 300 Hydraulic Oil
6 1/2"G 1/2"G 12 300 Hydraulic Oil
7 3/4"G 1/2"G 16 300 Hydraulic Oil
8 1/2"G 1/2"G 12 300 Hydraulic Oil

20

 13 n.8 

 45° 

 45° 

 22,5° 

R
12

5

R97,5

1
2

3

4

5

6

7

8

31

76

12
116

6

55

10
0 14

5 19
0

23,5

32
9

1
2

3
4

5 6

7
8

120

15
0

20

120

22

55

 152 

2

4

6

8

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"G 1"G (n.3) 24 380 Hydraulic Oil
2 3/4"G 3/4"G 20 380 Hydraulic Oil
3 1/2"G 1/2"G 16 380 Hydraulic Oil
4 1/2"G 1/2"G 16 380 Hydraulic Oil
5 1/2"G 1/2"G 16 380 Hydraulic Oil
6 1/2"G 1/2"G 16 380 Hydraulic Oil
7 3/4"G 3/4"G 20 380 Hydraulic Oil
8 3/4"G 3/4"G 20 380 Hydraulic Oil

 298 

 1
00

 

 185 

 60°  60° 

 110 

 265 

2
3

7

4

1

5

8

6

140

 32 

 3
6 

 1
00

 

 1
54

  2
10

 

 2
9,

5 

 1
0 

 7
1 

 2
41

 

 1
27

 
 1

81
 

1 1

2

3

4

5

6

7

8

 160  1
0 

 5
1 

 2
73

 

 3
60

 

 180 



Item code
D100080800

Item code
D100080500

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 08 vie
Swivel joint 08 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"G 1"G 22 350 Hydraulic Oil
2 1"G 1"G 22 350 Hydraulic Oil
3 1"G 1"G 22 350 Hydraulic Oil
4 1"G 1"G 22 350 Hydraulic Oil
5 3/4"G 3/4"G 18 350 Hydraulic Oil
6 3/4"G 3/4"G 18 350 Hydraulic Oil
7 3/4"G 3/4"G 18 350 Hydraulic Oil
8 3/4"G 3/4"G 18 350 Hydraulic Oil

 40 
 25 

 R120 

 45°  45° 

 13 n.4 

R100

7

3

6

2

5

1

8

4

138

 3
88

 

 1
9,

8 

 2
72

 
 8

8 
 5

0 

 165 

374

8

6

4

2

23
90

15
6,

5 21
2,

5

55
12

518
4,

524
0,

5

149

30

11
5,

5

 166 

2

4

6

8

1

3

5

7

263

Ø25

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 3/4"G 3/4"G 19 350 Hydraulic Oil
2 3/4"G 3/4"G 19 350 Hydraulic Oil
3 1"G 1"G 25 350 Hydraulic Oil
4 3/8"G 3/8"G 10 350 Hydraulic Oil
5 3/8"G 3/8"G 10 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 3/8"G 3/8"G 10 350 Hydraulic Oil

 188 

 3
5  3

0°
 

 
12 n.4

 45°  45° 

 74 

 25°  25° 

 50°  5
0° 

8

12

3
4

5

6

7

 2
00

,5
 

 1
53

,5
 

 5
6,

5 
 2

3 

 2
7 

 3
0 

 45 

 M
10 n.4 

 9
2  1

25
  1

77
 

 2
24

 

 2
47

,5
 

 120 

 128 

 174 

 3
54

 

 4
4 

 8
 

 2
86

,5
 

 6 

 22 

 14 

 14 

4

3

6

7

2

5

1

8



Item code
D110080200

Item code
D100080900

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 08 vie
Swivel joint 08 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 3/8"G 3/8"G 10 320 Hydraulic Oil
2 3/4"G 3/4"G 16 320 Hydraulic Oil
3 3/4"G 3/4"G 16 320 Hydraulic Oil
4 3/4"G 3/4"G 16 320 Hydraulic Oil
5 3/4" SAE 6000 3/4" SAE 6000 20 320 Hydraulic Oil
6 3/4" SAE 6000 3/4" SAE 6000 20 320 Hydraulic Oil
7 3/4" SAE 6000 3/4" SAE 6000 20 320 Hydraulic Oil
8 3/4" SAE 6000 3/4" SAE 6000 20 320 Hydraulic Oil

 
12

8 

 M
14 n.4  175 

 1
02

 
 1

02
 

 100 

 
10

7 

 4
5°

 

 45° 

12

3 4

5 6

7

8

 9
0 

 2
7,

5 
 8

0,
5 

 1
42

 
 2

17
  2

90
 

 4
0  4
5 

 23 

 1
6 

 3
0 

 80 

 M10 n.4 

 2
20

 

 169 

 M25x1.5 

1

3

5

7

2

4

6

8

n.2

 5
2 

 1
09

 

 1
79

,5
 

 2
54

,5
 

 4
14

,5
 

 122 

 2
10

 
 5

0 

 1"G 

 3
4,

5 

2

4

6

8

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil
2 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil
3 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil
4 1" SAE 6000 1" SAE 6000 25 350 Hydraulic Oil
5 3/4"G 3/4"G 18 350 Hydraulic Oil
6 3/4"G 3/4"G 18 350 Hydraulic Oil
7 3/4"G 3/4"G 18 350 Hydraulic Oil
8 3/4"G 3/4"G 18 50 Drain

45
°

45°

13 n.4

270

 1
00

 

 2
5 

128

240

2
5

1

8
4

7

3

6

141,5

83

45

15
9

21
7

26
9

12
1

19
1

24
3

189

 4
31

,5
 

 121 

 3
5  

25
 

1

2

3

4

5

6

8

9

56

187

190

12
29

7
95

24

 4
0 

85

8

5

3

1



Item code
D110080300

Item code
D110080400

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 08 vie
Swivel joint 08 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 1" 1/4 G 1" 1/4 G 30 400 Hydraulic Oil
2 1" 1/4 G 1" 1/4 G 30 400 Hydraulic Oil
3 1" G 1" G 25 400 Hydraulic Oil
4 1" G 1" G 25 400 Hydraulic Oil
5 3/8"G 3/8"G 10 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 1/2"G 1/2"G 12 350 Hydraulic Oil

 290 
 64  40 

 43° 

 1
55 

 13 n.6 

 265 

 30°  30° 

 8
3,

5  1
63

  2
17

  2
64

 

 2
94

 
 9

3  1
2  5
3 

 149 

 190 

3

4

5

6

8

 4
1,

5 

 1
24

  1
94

  2
40

 

 1
5 

 3
99

 
 1

20
 

 1
5 

 210 

 1"G 

 25 

 4
26

,5
 

12
7

8

6

5 4

3

7

2

1

8

6

4

2

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 3/4"G 3/4"G 18 350 Hydraulic Oil
2 1/2"G 1/2"G 14 350 Hydraulic Oil
3 1/2"G 1/2"G 14 350 Hydraulic Oil
4 1/2"G 1/2"G 14 350 Hydraulic Oil
5 1"1/4 SAE 6000 1"1/4 SAE 6000 30 350 Hydraulic Oil
6 1"1/4 SAE 6000 1"1/4 SAE 6000 30 350 Hydraulic Oil
7 1"1/4 SAE 6000 1"1/4 SAE 6000 30 350 Hydraulic Oil
8 1"1/4 SAE 6000 1"1/4 SAE 6000 30 350 Hydraulic Oil

 345 

 17 n.6 

 10°  1
0°

 

 40°  40° 

 60°  60° 

 320 

 4
6 

 5
0 

 6
2 

 1
04

 
 9

2 

 3
54

 
 1

9 

 1
4 

 9
 

 1
44

 

 5
31

 

 1
05

 

 5
0 

 185 

 290 

 175  175 

 4
0 

 40 
 189 

 7
2,

5 
 4

7 

 4
6 

 5
0 

 1"G 

 25 

 8
8,

5 
 1

04
 

 6
2 

 1
04

 

12

34

56

78

8 7

6 5

4 3

2 1



Item code
D145080100

Item code
D110080600

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 08 vie
Swivel joint 08 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR

3
2
1
0

4

5
6

7

ROTOR

0 1/4"G 1/4"G 6 50 Hydraulic Oil
1 3/4"G 3/4"G 18 35 Hydraulic Oil
2 1"1/4 G 1"1/4 G 30 400 Hydraulic Oil
3 1"1/4 G 1"1/4 G 30 400 Hydraulic Oil
4 1"1/4 G 1"1/4 G 30 400 Hydraulic Oil
5 1"1/4 G 1"1/4 G 30 400 Hydraulic Oil
6 1/2"G 1/2"G 12 400 Hydraulic Oil
7 3/4"G 3/4"G 18 400 Hydraulic Oil

 4
5°

 

 
17 n.3 

 235 

 45° 

 
20

0 

 6
0°

 

 60° 

0 1

2 3

54

6

7

 138 

 170 

 2
  1

2 

 9
7 

 3
13

,5
 

 6
5 

 5
5 

 1
49

 

 134 

 8
0,

5 
 7

4,
5 

 6
7,

5 
 4

9 

 4
34

 

0
1

7
6

54

32

 1
17

 
 7

6 
 5

3 
 4

4,
5 

 183,5 

 3
03

,5
 

 140 

3

5

7

0

3
2
1
0

4

5
6

7

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 3/8"G 3/8"G 10 350 Hydraulic Oil
2 3/8"G 3/8"G 10 350 Hydraulic Oil
3 1/2"G 1/2"G 12 350 Hydraulic Oil
4 3/4"G 3/4"G 16 350 Hydraulic Oil
5 3/4"G 3/4"G 16 350 Hydraulic Oil
6 1"1/4 G 1"1/4 G 30 350 Hydraulic Oil
7 1"G 1"G 20 350 Hydraulic Oil
8 1"G 1"G 20 350 Hydraulic Oil

270

M12 n.4

250

100

45° 45°

1 2

34

5

6

7

8

122

50

1034

38
6,

5

30

12
5

32
8

7

5

3

1

80

225

180

165

46

77

30

M
10 n.4

10
7

17
2

25
3

14
0

21
3 28

8,
5

1

3

2

4

5

6

7

8

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR



Item code
D085090100

Item code
D190080000

Distributore rotante 08 vie
Swivel joint 08 ways

Distributore rotante 09 vie
Swivel joint 09 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

8

7
6

5

1
2
3
4

STATOR

4
3
2
1

5

6
7

8

ROTOR

1 3/8"G 3/8"G 16 300 Hydraulic Oil
2 3/8"G 3/8"G 16 300 Hydraulic Oil
3 3/8"G 3/8"G 16 300 Hydraulic Oil
4 3/8"G 3/8"G 16 300 Hydraulic Oil
5 3/8"G 3/8"G 12 300 Hydraulic Oil
6 3/8"G 3/8"G 12 300 Hydraulic Oil
7 3/8"G 3/8"G 12 300 Hydraulic Oil
8 3/8"G 3/8"G 12 300 Hydraulic Oil

150

15° 15°

23°

23
°

23°

23°

15
°

15
°15°

15°

23° 23°

18
° °81

11,5° 11,5°

R86

R88,5

   M12 n.6 holes
   screw depht 16mm

22
5

218

19
2,

5
23

242

36
50

50

M12 n.6
screw depht 13mm

22 43
,5 65

87

13
0 15

1,
5 17

3

10
8,

3
8

7

6
5 4

3

2

1

1

2
3

4
5
6

7

8

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

1 1"G 1"G 25 350 Hydraulic Oil
2 1"G 1"G 25 350 Hydraulic Oil
3 1/2"G 1/2"G 12 350 Hydraulic Oil
4 1/2"G 1/2"G 12 350 Hydraulic Oil
5 1/2"G 1/2"G 12 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 3/8"G 3/8"G 10 350 Hydraulic Oil
9 3/8"G 3/8"G 10 350 Hydraulic Oil

 42°  42° 

 2
9°

 

 32°  32° 

 29° 

 
13 

n.6

 200 

 30° 

 3
0°

 

 3
0°

 

 30° 

1

6

7

8

9

54
3

2

 3
96

,5
 

 1
2 

 90 

 5
0 

 1
16

 
 1

00
 

 235 

 109 

 5
0 

 1
16

 

 2
71

 

9

7

5

3

1

21

 4
2,

5  1
03

,5
 

 1
52

,5
 

 1
98

,5
 

 2
43

,5
 

 7
5  1

28
  1

76
  2

21
 

 2
5  4

5 

 3
7 

 109 

 3
0 

 80 
 M

10 n.4 

 156 

1

2

3

5

6

7

8

9

8

9

52

4

N.2



Item code
D100090100

Item code
D085090200

Distributore rotante 09 vie
Swivel joint 09 ways

Distributore rotante 09 vie
Swivel joint 09 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

1 1/4"G 1/4"G 6 350 Hydraulic Oil
2 1/4"G 1/4"G 6 350 Hydraulic Oil
3 1/4"G 1/4"G 6 350 Hydraulic Oil
4 1/4"G 1/4"G 6 350 Hydraulic Oil
5 1/4"G 1/4"G 6 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 3/8"G 3/8"G 10 350 Hydraulic Oil
9 3/8"G 3/8"G 10 350 Hydraulic Oil

 220 

 4
5°

 
 2

2,
5°

 
 22,5°  22,5° 

 45° 

 
13 n.4 

 200 

1

2
7 3

4

5

6

8

9

 5
0 

 3
8  7

5  1
12

 

 140 

 2
8 

 3
0 

 2
0 

 50 

 M
10 n.4  

 7
0 

 1"G 

 1
55

  2
00

 

 1
77

,5
 

 1
32

,5
 

 9
3,

5 

 5
6,

5 

 20 

1

2

3

4

5

6 7

8

9

5

9

4

8

3

7

2

6

1

 104 

 2
37

,5
 

 7
2 

 1
0 

 3
46

 

2

4

6

8

3

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"G 1"G 10 320 Hydraulic Oil
2 1"G 1"G 10 320 Hydraulic Oil
3 3/4"G 3/4"G 10 320 Hydraulic Oil
4 3/4"G 3/4"G 10 320 Hydraulic Oil
5 3/4"G 3/4"G 10 350 Hydraulic Oil
6 3/4"G 3/4"G 10 350 Hydraulic Oil
7 1/2"G 1/2"G 10 5 Drain
8 1/2"G 1/2"G 10 320 Hydraulic Oil
9 1/2"G 1/2"G 10 320 Hydraulic Oil

 250 

 R140 

 43°  43° 

 20°  20° 

 3
5°

 

 4
2°

 

 13 n.4 

 4
1 

 1
67

 

 7
5 

 1
97

 

 173 

 149 

 9
2 

 4
0 

 2
7 

 4
07

 
 1

2 

 1
37

 

 2
45

 

 2
67

 

 2
23

 

 1
07

 

 6
5 

 
20

 

 69 

 1
50

 
 1

6 

 1"1/2"G 

 30,5 

12

3

45

6

7

89

9

8

7 6

54

3 2

1

 250 



Item code
D105090200

Item code
D105090100

Distributore rotante 09 vie
Swivel joint 09 ways

Distributore rotante 09 vie
Swivel joint 09 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

1 3/4"G 3/4"G 19 300 Hydraulic Oil
2 1"G 1"G 25 300 Hydraulic Oil
3 1"G 1"G 25 300 Hydraulic Oil
4 1"G 1"G 25 300 Hydraulic Oil
5 1"G 1"G 25 300 Hydraulic Oil
6 1/2"G 1/2"G 12 300 Hydraulic Oil
7 1/2"G 1/2"G 12 300 Hydraulic Oil
8 1/2"G 1/2"G 12 300 Hydraulic Oil
9 3/4"G 3/4"G 19 300 Hydraulic Oil

32° 32°

 235 

 25° 

 15° 

 30°  30° 

 1
5°

 

 
13 n.4 

200

 30°  3
0°

 

1

6
7

8

9

5

43

2

125

 180 

 1
48

 
 5

0 
 1

2 

 4
 

 135 

 1
48

 
 5

0 

9

7

5

3

1

5432

35
,510

3,
517

5,
522

827
6,

5

67
,5

13
9,

5 20
5

25
1

37  7
1 

 3
0 

 80 

 M
10 n.8 

 160 

1

2

3

4

5

6

7
8

9

8954

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

1 1/2"G 1/2"G 12 320 Hydraulic Oil
2 1/2"G 1/2"G 12 320 Hydraulic Oil
3 1/2"G 1/2"G 12 320 Hydraulic Oil
4 1/2"G 1/2"G 12 320 Hydraulic Oil
5 3/4"G 3/4"G 18 320 Hydraulic Oil
6 3/4"G 3/4"G 18 320 Hydraulic Oil
7 1/4"G 1/4"G 8 320 Hydraulic Oil
8 1/4"G 1/4"G 8 320 Hydraulic Oil
9 3/8"G 3/8"G 12 320 Hydraulic Oil

215

12,5 n.4

195

45° 45°

37°37
°

6
3

8

4

5

1

7

2

9

18
7,

5
50

25
7,

5
1233

110

30
7,

5

5

6
7

8

38 62
86

11
0

13
6,

5

16
5,

5
19

1,
521

4

175

110

M
10 n.4

80

30 1

2

3

4
5

6

7

8

9



Item code
D145090100

Item code
D110090200

Distributore rotante 09 vie
Swivel joint 09 ways

Distributore rotante 09 vie
Swivel joint 09 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

1 1"SAE 6000 1"SAE 6000 25 340 Hydraulic Oil
2 1"SAE 6000 1"SAE 6000 25 340 Hydraulic Oil
3 1"SAE 6000 1"SAE 6000 25 340 Hydraulic Oil
4 1"SAE 6000 1"SAE 6000 25 340 Hydraulic Oil
5 1"G 1"G 22 340 Hydraulic Oil
6 1"G 1"G 22 340 Hydraulic Oil
7 1/2"G 1/2"G 12 340 Hydraulic Oil
8 1/2"G 1/2"G 12 100 Hydraulic Oil
9 1"1/4G 1"1/4G 25 100 Hydraulic Oil

 25° 

 2
5°

 

 20,5°  20,5° 

 25° 

 2
5°

 

 32,5°  32,5° 

 
13

,5
 n

.4
 

 250 

 230 

1

2 4

5 6

7 8
9

3

 80 

 3
0 

 100 

 M10 n.4  

 1
91

 

 5
9 

 1
39

  2
17

  2
84

,5
 

 3
44

,5
 

 4
0 

 4
5 

 5
26

,5
  3

92
 

 1"G 

 30,5 

1

3

5

7

9

2

4

6

8

N.2

 9
9 

 1
79

  2
53

  3
11

,5
 

 5
26

,5
 

 3
92

 

 160 

 1
5 

 1
05

 

 199 

 1
81

 
 5

0 

 1
81

 
 5

0 

4

8

6

2

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

4
3
2
1

5
6
7
8
99

ROTOR

8
7
6
5

1
2
3
4

STATOR

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 3/4" SAE 3000 1/2" SAE 3000 16 320 Hydraulic Oil
2 1/2" SAE 3000 1/2" SAE 3000 16 320 Hydraulic Oil
3 3/4" SAE 6000 3/4" SAE 6000 18 320 Hydraulic Oil
4 3/4" SAE 6000 3/4" SAE 6000 18 320 Hydraulic Oil
5 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 320 Hydraulic Oil
6 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 320 Hydraulic Oil
7 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 320 Hydraulic Oil
8 1" 1/4 SAE 6000 1" 1/4 SAE 6000 30 320 Hydraulic Oil
9 3/4" SAE 3000 3/4" SAE 3000 18 50 Drain

290

26° 26°

12
° 12°

31° 31°
62° 62°

13 n.6

265

7

8

9

2
3

1

4

5

6

180

19
1

25

91

14
1

12

194

40
1

59
3,

5

42

8

76

5

9

7

5

3

1

35
,5

96
17

2,
527

1

35
9

64
,5 13

0

22
1,

5

32
0

16
8,

5

135

210

210

25 n.2

2987

1

3

5

2

4

6

7

9

8



Item code
D100100200

Item code
D100100100

Distributore rotante 10 vie
Swivel joint 10 ways

Distributore rotante 10 vie
Swivel joint 10 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

1

4
3
2
1

5
6
7
8
9

10 10
9
8
7
6
5

2
3
4

1 1/4"G 1/4"G 10 300 Hydraulic Oil
2 1/4"G 1/4"G 10 300 Hydraulic Oil
3 1/4"G 1/4"G 10 300 Hydraulic Oil
4 1/4"G 1/4"G 10 300 Hydraulic Oil
5 1/4"G 1/4"G 10 300 Hydraulic Oil
6 1/4"G 1/4"G 10 300 Hydraulic Oil
7 1/4"G 1/4"G 10 300 Hydraulic Oil
8 1/4"G 1/4"G 10 300 Hydraulic Oil
9 1/2"G 1/2"G 14 300 Hydraulic Oil

10 1/2"G 1/2"G 14 300 Hydraulic Oil

30°

30°30°

30°

 260 

 220  20 

 180 

 2
60

 

 2
0 

 2
20

 

 
12,5 n.4 

 3
0°

 

 30°  3
0°

 

 30° 

3

4

10

5

67

8

9

1

2

53

24

33
0,

5

35

71
10

714
318

2

89
12

5 16
1 20

3

 152 

 2
0 

 20 

9

5

6

4

3

10

7

8

1

2

4321

 150 

 
40

 
 1

2 
 5

4 

 116 

 2
30

 

2

1

8

7

10

651043

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

1

4
3
2
1

5
6
7
8
9

10 10
9
8
7
6
5

2
3
4

1 1/4"G 1/4"G 8 350 Hydraulic Oil
2 1/4"G 1/4"G 8 350 Hydraulic Oil
3 1/4"G 1/4"G 8 350 Hydraulic Oil
4 1/2"G 1/2"G 12 350 Hydraulic Oil
5 1"G 1"G 22 350 Hydraulic Oil
6 1"G 1"G 22 350 Hydraulic Oil
7 1"G 1"G 22 350 Hydraulic Oil
8 1"G 1"G 22 350 Hydraulic Oil
9 1"G 1"G 22 350 Hydraulic Oil

10 1"G 1"G 22 350 Hydraulic Oil

 15° 

 35 

 40 

 45°  45° 

 50 

 13 n.4 

 R135  34°  34° 

 2
3°

  23° 

 R120 

5

6

7

8

9

10

1 2

3 4

 148 

 165 

 1
5 

 1
5 

 3
08

 

 8
,5

 

 8  8 
 30  30 

1

3

5

7

9

 175 

 4
0 

 4
2 

 1
7  3

7 
 4

3 
 5

8 
 6

2 
 6

2 

 4
1 

 4
9 

 6
2 

 6
2 

 4
11

 

 38,5 

 8
8 

1
2

3
4

5

6

7

8

9

10



Item code
D125100300

Item code
D105100100

Distributore rotante 10 vie
Swivel joint 10 ways

Distributore rotante 10 vie
Swivel joint 10 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

1

4
3
2
1

5
6
7
8
9

10 10
9
8
7
6
5

2
3
4

1 3/4"G 3/4"G 18 380 Hydraulic Oil
2 3/4"G 3/4"G 18 380 Hydraulic Oil
3 3/4"G 3/4"G 18 380 Hydraulic Oil
4 3/4"G 3/4"G 18 380 Hydraulic Oil
5 1/2"G 1/2"G 14 380 Hydraulic Oil
6 1/2"G 1/2"G 14 380 Hydraulic Oil
7 1/2"G 1/2"G 14 380 Hydraulic Oil
8 1/2"G 1/2"G 14 380 Hydraulic Oil
9 3/8"G 3/8"G 10 380 Hydraulic Oil

10 3/8"G 3/8"G 10 380 Hydraulic Oil

220

M
12 n.4

20° 20°

35
° 35°

20°20°55° 55°

200

1 2

3 5
69

10

4 8

7

20
50

42
9,

5

15
80

33
4,

5
100

135

9

7

5

3

1

6539

175

135

29
,5

92
,515

4,
521

3,
527

1,
5

61

12
4 18

4
24

3 29
9

30

80

30

40

1

2

3

4

5

6
7

8
9

10

87265

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

1

4
3
2
1

5
6
7
8
9

10 10
9
8
7
6
5

2
3
4

1 1"1/2 SAE 6000 1"1/2 SAE 6000 34 300 Hydraulic Oil
2a

1"1/2 SAE 6000 1"1/2 SAE 6000 34 300 Hydraulic Oil2b
3 3/4"G 3/4"G 18 300 Hydraulic Oil
4 1"1/4G 1"1/4G 30 300 Hydraulic Oil
5 1/4"G 1/4"G 6 300 Hydraulic Oil
6 1/2"G 1/2"G 12 300 Hydraulic Oil
7 3/4"G 3/4"G 18 300 Hydraulic Oil
8 3/4"G 3/4"G 18 300 Hydraulic Oil
9 1/2"G 1/2"G 12 200 Water

10 1/2"G 1/2"G 12 200 Water

 280 

 
13

 n
.6

 

 2
7°

 
 2

3° 

 27° 
 23° 

 45° 

 3
5°

 

 2
0° 

 30°  30° 

 260 

 1
24

 

 5
5 

 3
0 

 1
0 

 3
44

 

 1
72

 

 2
40

  2
89

  3
68

 

 3
88

 

 6
2 

 16  16 

 30 

 1"G 

 5
8 

 9
0 

 179 

 210 

 4
 

 4
78

 

 5
40

 

 1
08

,5
 

 60 

 1
00

 

 6
0 

 1
61

 

 3
18

,5
 

 2
62

,5
 

 2
08

 

 190 

 234 

 M10 n.4

N.2

3

5

7

910

1

22

4

6

8

10

97

5
38

6

4

2

1

2

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK



Item code
D085120100

Item code
D145100200

Distributore rotante 10 vie
Swivel joint 10 ways

Distributore rotante 12 vie
Swivel joint 12 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

1

4
3
2
1

5
6
7
8
9

10 10
9
8
7
6
5

2
3
4

1 1/2"G 1/2"G 16 400 Hydraulic Oil
2 1/2"G 1/2"G 16 400 Hydraulic Oil
3 1/2"G 1/2"G 16 400 Hydraulic Oil
4 1"1/4G 1"1/4G 30 400 Hydraulic Oil
5 1"1/4G 1"1/4G 30 400 Hydraulic Oil
6 1"1/4G 1"1/4G 30 400 Hydraulic Oil
7 1"1/4G 1"1/4G 30 400 Hydraulic Oil
8 1"1/4G 1"1/4G 30 400 Hydraulic Oil
9 1"1/4G 1"1/4G 30 400 Hydraulic Oil

10 3/4"G 3/4"G 16 50 Drain

 8
1  1

47
  2

43
  3

39
  4

26
 

 5
3  1

09
  1

95
  2

91
 

 3
87

 

 3
0  48 

 80 

 3
0 

 5
0 

 100 

 M
10 n.4 (x

2) 

 6
0 

1

3

5

7

9

2

4

6

8

10

2

1

86

4

10

 5
0 

 5
0 

 235 

 5
0 

 5
0 

 183 

 1
5 

 1
20

 
 4

53
 

 6
01

,5
 

 182 

10

8

6

4

2

7
9

10

4
6

45°

45
°

33°

45
°

45°

33°

 M16 n.6 

 290 

 34°  34° 

265

 30°  30° 

8

6

4
10

9

7

5

3 2 1

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 3/8"G 3/8"G 10 350 Hydraulic Oil
2 3/8"G 3/8"G 10 350 Hydraulic Oil
3 3/8"G 3/8"G 10 350 Hydraulic Oil
4 3/8"G 3/8"G 10 350 Hydraulic Oil
5 3/8"G 3/8"G 10 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 3/8"G 3/8"G 10 350 Hydraulic Oil
9 3/8"G 3/8"G 10 350 Hydraulic Oil

10 3/8"G 3/8"G 10 350 Hydraulic Oil
11 3/8"G 3/8"G 10 350 Hydraulic Oil
12 3/8"G 3/8"G 10 350 Hydraulic Oil

 25  40 
 

13 n.4 

 5
0°

 

 50° 

 240 

 45° 

 45° 
 200 

1

4
5

62

7

11

3

8

9
10

12

 3
19

 

 3
96

,5
 

 5
5,

5  1
02

,5
 

 1
49

,5
 

 1
96

,5
 

 2
43

,5
  2
90

,5
 

 5
0 

 2
7,

5 

 
25

 

 30 

1

3

5 5

7 7

8

2

3
4

1

6

9

11

10

11

9

 3
2 

 6
5 

 7
9 

 1
26

  1
73

  2
20

 

 2
67

 

 1
5 

 1
5 

 140 

 128 

12



Item code
D100120100

Item code
D085120300

Distributore rotante 12 vie
Swivel joint 12 ways

Distributore rotante 12 vie
Swivel joint 12 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 3/8"G 3/8"G 10 5 Gasoil
2 3/8"G 3/8"G 10 5 Gasoil
3 1/2"G 1/2"G 14 5 Gasoil
4 1/4"G 1/4"G 6 350 Hydraulic Oil
5 3/8"G 3/8"G 10 350 Hydraulic Oil
6 3/8"G 3/8"G 10 350 Hydraulic Oil
7 3/8"G 3/8"G 10 350 Hydraulic Oil
8 3/8"G 3/8"G 10 350 Hydraulic Oil
9 1/4"G 1/4"G 6 350 Hydraulic Oil

10 1"G 1"G 22 350 Hydraulic Oil
11 1"G 1"G 22 350 Hydraulic Oil
12 1/4"G 1/4"G 6 350 Hydraulic Oil

 24°  26°  26° 
 26° 

 2
6°

 

 2
6°

 

 26° 

 172 

 40 

 3
0°

 

 30° 

 13 n.3 

 
13 n.4 

 120° 

 200 

 220 

 235 

 4
5°

 

 45° 

 1
20

° 

2

6

 50 

 3
0 

 3
6,

5 
 4

8 
 4

4 
 4

5,
5 

 4
3 

 5
5 

 3
15

 

 2
0 

 172 

 1
55

 

 30 

 1"1/2"G 

 5
5 

 4
5 

 4
5 

 4
4 

 4
8 

 5
9,

5 

 118 

 1
2 

 3
,5

 

 6
8 

 4
23

 
1

3

4

5

7

8
9

10
11

12

6

2

12

11

10

9

8

7

5

4

3

1

6

4

2

12

10

8

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 3/4"G 3/4"G 18 330 Hydraulic Oil
2 3/4"G 3/4"G 18 330 Hydraulic Oil
3 3/4"G 3/4"G 18 330 Hydraulic Oil
4 3/4"G 3/4"G 18 330 Hydraulic Oil
5 1/2"G 1/2"G 12 330 Hydraulic Oil
6 1/4"G 1/4"G 6 330 Hydraulic Oil
7 1/4"G 1/4"G 6 330 Hydraulic Oil
8 1/4"G 1/4"G 6 330 Hydraulic Oil
9 1/4"G 1/4"G 6 330 Hydraulic Oil

10 1/4"G 1/4"G 6 330 Hydraulic Oil
11 1/4"G 1/4"G 6 330 Hydraulic Oil
12 1/4"G 1/4"G 6 330 Hydraulic Oil

218

10,5 n.4

20°
20°

20°

20° 20°

20°

40° 40°

200

5
43

1 2

6
7

8 9 10
11

12

102,5

22
4,

5
50

39
4

35

4 11

69

11

9

7

5

3

1

43 5

39

93

14
518

422
025

6

66

12
0

16
6 20

2 23
8 27

4

165

125

160

124

30 45

80

301

3

5

7

9

11

2

4

6

8

10

12

11

1012

2

4



Item code
D125120100

Item code
D124120200

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 1/2"G 1/2"G 12 350 Hydraulic Oil
2 1/2"G 1/2"G 12 350 Hydraulic Oil
3 3/4"G 3/4"G 19 350 Hydraulic Oil
4 3/4"G 3/4"G 19 350 Hydraulic Oil
5 3/4"G 3/4"G 19 350 Hydraulic Oil
6 3/4"G 3/4"G 19 350 Hydraulic Oil
7 3/4"G 3/4"G 19 350 Hydraulic Oil
8 3/4"G 3/4"G 19 350 Hydraulic Oil
9 3/4"G 3/4"G 19 350 Hydraulic Oil

10 3/4"G 3/4"G 19 350 Hydraulic Oil
11 1"G 1"G 25 350 Hydraulic Oil
12 1"G 1"G 25 350 Hydraulic Oil

250

12,5 n.4

30°30°

30
° 30°

30° 30°

30° 30°

230

11
5

1

4

2

8
12

6

10

3

9

7

39
2,

5

80

30

80
12

4

205

50
1

49
,573

,59912
5

15
1 17

7 20
3

22
9 25

5 28
1

31
435

4

16
6,

5
50

160

192

158

1

2

3

4

5 6

7

8
9

10

11

12

Distributore rotante 12 vie
Swivel joint 12 ways

Distributore rotante 12 vie
Swivel joint 12 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 1/4"G 1/4"G 4 300 Hydraulic Oil
2 M10x1 M10x1 4 300 Hydraulic Oil
3 M10x1 M10x1 4 300 Hydraulic Oil
4 1/2"G 1/2"G 13 300 Hydraulic Oil
5 1"1/4G 1"1/4G 30 300 Hydraulic Oil
6 1/4"G 1/4"G 8 300 Hydraulic Oil
7 3/8"G 3/8"G 10 300 Hydraulic Oil
8 3/8"G 3/8"G 10 300 Hydraulic Oil
9 1/2"G 1/2"G 13 300 Hydraulic Oil

10 1"1/4G 1"1/4G 30 300 Hydraulic Oil
11 1"1/4G 1"1/4G 13 50 Water
12 1/2"G 1/2"G 13 50 Water

14°
32°

44°

37
°

23°

23°

20°

18°

18°

34
°

40°

30°

22
0

13
 n

.4

M
12 n

.2

50

270
240

1

234

5

6 7

8

9
10 11

12

35
,5

29
,8

61
47

,9
40

,9
77

,9
37

34
2

20

170

190

199

89

10

Dr1

Dr2

8

9
10

5

6

1
2

3
4

7

12

8

9

10 11 12

11

20
,6

30
46

,5
57

,4
39

,9
49

,9
68

,7

45
6,

2

250

175

Dr2

Dr1

8
9

10

5

6

1
2

3
4

7

11

12

11

12 7 1

2

3

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK



Item code
D100130000

Item code
D145120100

Distributore rotante 13 vie
Swivel joint 13 ways

Distributore rotante 12 vie
Swivel joint 12 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

ROTORSTATOR

12
11
10
9
8
7
6
5

1
2
3
4

12
11
10
9
8
7
6
5

1
2
3
4

1 3/4"G 3/4"G 16 50 Hydraulic Oil
2 1"1/2G 1"1/2G 32 350 Hydraulic Oil
3 1"1/4G 1"1/4G 30 350 Hydraulic Oil
4 1"1/4G 1"1/4G 30 350 Hydraulic Oil
5 1"1/4G 1"1/4G 30 350 Hydraulic Oil
6 1"1/4G 1"1/4G 30 350 Hydraulic Oil
7 1"G 1"G 22 350 Hydraulic Oil
8 1/2"G 1/2"G 12 350 Hydraulic Oil
9 1/2"G 1/2"G 12 350 Hydraulic Oil

10 1/2"G 1/2"G 12 350 Hydraulic Oil
11 1/2"G 1/2"G 12 350 Hydraulic Oil
12 1/2"G 1/2"G 12 50 Hydraulic Oil

290

42,5°42,5°

10
° 10°

20° 15°

32
,5

°35°

M16 n.6

265

30° 30°

2
9

4

7

68

5

3

1

11

10 12

33
50 50

33

125 125

37

95
15

50
1

62
4,

5

41

12

10

8

6

4

2

32
13

8
23

2
32

4 38
9 44

7

82
18

5
27

936
041

847
6

177

30

80

M10 n.8

222
179

1

2

3

4

5

6

7

8
9

10

11
12

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12

1 3/4"G 3/4"G 16 420 Hydraulic Oil
2 3/4"G 3/4"G 16 420 Hydraulic Oil
3 3/4"G 3/4"G 16 420 Hydraulic Oil
4 3/4"G 3/4"G 16 420 Hydraulic Oil
5 1/2"G 1/2"G 12 420 Hydraulic Oil
6 1/2"G 1/2"G 12 420 Hydraulic Oil
7 1/2"G 1/2"G 12 420 Hydraulic Oil
8 1/2"G 1/2"G 12 420 Hydraulic Oil
9 1/2"G 1/2"G 12 420 Hydraulic Oil

10 1/2"G 1/2"G 12 420 Hydraulic Oil
11 1/2"G 1/2"G 12 420 Hydraulic Oil
12 1/2"G 1/2"G 12 420 Hydraulic Oil
13 1/2"G 1/2"G 12 420 Hydraulic Oil

  220  

  
13,5 n.4  

200

1

2 3

4

12

1

5

6
78

9

10

11

  5
36

,5
  

  5
0 

 
  8

0 
 

  175  

  9
5 

 
  4

03
  

  40  

12

10

8

6

4

2

60
59

52
52

52
52

60
55

52
52

52

  138  

  1
5 

 
  7

6 
 

  4
6 

 

  80  

  3
0 

 

  6
0 

 

  20  

  1"G  

  2
5 

 

1

2

3

4

5

6

7

8

9

10

11

12

13

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

CUSCINETTI
SIGILLATI

SEALED
BEARINGS



Item code
D170130100

Item code
D100130300

Distributore rotante 13 vie
Swivel joint 13 ways

Distributore rotante 13 vie
Swivel joint 13 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 M18x1.5 M18x1.5 10 350 Hydraulic Oil
2 M18x1.5 M18x1.5 10 350 Hydraulic Oil
3 M20x1.5 M20x1.5 14 30 Drain
4 M14x1.5 M14x1.5 10 350 Hydraulic Oil
5 M14x1.5 M14x1.5 10 350 Hydraulic Oil
6 M14x1.5 M14x1.5 10 350 Hydraulic Oil
7 M14x1.5 M14x1.5 10 350 Hydraulic Oil
8 M14x1.5 M14x1.5 10 350 Hydraulic Oil
9 M20x1.5 M20x1.5 14 350 Hydraulic Oil

10 M20x1.5 M20x1.5 14 350 Hydraulic Oil
11 M14x1.5 M14x1.5 10 350 Hydraulic Oil
12 M33x2 M33x2 22 350 Hydraulic Oil
13 M33x2 M33x2 22 350 Hydraulic Oil

 M12 n.4 

 17 n.2 

 25° 

 25° 

 2
5°

 

 33° 

 33° 

 2
2°

 

 23° 

 20°  14° 
 36° 

 25° 

 240 

 112 

 7
8,

5  1
42

,5
 

 1
84

,5
 

 3
34

 

 1
5 

 131 

 9
1 

 6
2 

 4
7 

 168 

 2
0 

 3
5,

5 

 1
21

,5
 

 2
27

,5
 

 3
12

,5
 

 2
77

,5
 

 2
49

,5
 

 2
05

,5
 

 1
63

,5
 

 1
00

,5
 

 5
6,

5 

 3
58

 

 4
0  2

3 

 1"G 

 4
72

,5
 

 22 
 M25x1.5 

1

2

3

4

5

6

7

9

8

10

11

12

13

12

11

10

8

6

4

2

13
12

8

9

7
5

4
3

1

STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

1 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
2 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
3 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
4 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
5 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
6 1"SAE 6000 1"SAE 6000 25 350 Hydraulic Oil
7 1"G 1"G 22 300 Hydraulic Oil
8 1"G 1"G 22 300 Hydraulic Oil
9 1"G 1"G 22 300 Hydraulic Oil

10 1"G 1"G 22 300 Hydraulic Oil
11 1/2"G 1/2"G 12 150 Hydraulic Oil
12 1/2"G 1/2"G 12 60 Hydraulic Oil
13 1"1/4G 1"1/4G 25 60 Hydraulic Oil

 16,5 n.6 

 18° 

 26° 

 3
5°

 

 35° 

 29° 

 29° 

 23° 
 14° 

 29° 

 350 

 325 

1 2

3

4
5

6

7

8

9 10

11 12 13

 5
8 

 1
34

  2
10

 

 2
85

  3
57

 

 4
24

,5
 

 4
83

,5
 

 265 

 80 

 3
0 

 2
21

 

 5
0 

 100 

 M
10 n.4 

 1
05

 
 1

5 

 5
31

 

 6
66

 

 1"G 

 30,5 

1

3

5

7

9

11
12

13

2

4

6

8

10

12

10

8

6

4

2

N.2

 9
6  1

72
  2

48
 

 3
21

 
 3

93
 

 4
51

,5
 

 230 

 2
11

 
 5

0 

 5
0 

 2
11

 
STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12



Item code
D100140100

Item code
D180130000

Distributore rotante 14 vie
Swivel joint 14 ways

Distributore rotante 13 vie
Swivel joint 13 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

M18x1.5 M18x1.5 15 300 Hydraulic Oil
1" 1/2 SAE 6000 1" 1/2 SAE 6000 36 300 Hydraulic Oil

M14x1.5 M14x1.5 10 300 Hydraulic Oil
M33x2 M33x2 18 300 Hydraulic Oil
M33x2 M33x2 18 300 Hydraulic Oil

M16x1.5 M16x1.5 15 300 Hydraulic Oil
M16x1.5 M16x1.5 15 300 Hydraulic Oil
M16x1.5 M16x1.5 15 300 Hydraulic Oil
M22x1.5 M22x1.5 20 300 Hydraulic Oil
M22x1.5 M22x1.5 15 300 Hydraulic Oil
M22x1.5 M22x1.5 18 300 Hydraulic Oil
M22x1.5 M22x1.5 18 300 Hydraulic Oil

1
2
3
4
5
6
7
8
9

10
11
12
13 2" SAE 6000 2" SAE 6000 50 300 Hydraulic Oil

57
74

55
49

53
10

7,
5

10
3,

5
55

14
0

20

53

47
65

30
,5

83
,5

280

214

73

250

15
3

30

14
0

750

800

11
0

17 n.4

2 3

4

12

9

1311

10

7

8

6

5

1

13

11

9

7

5

2

1

3

4

6

8

10

12

61
4

11
7

55

47
4,

5

2

5

7

9

11

13

STATOR ROTOR

12
11
10
9
8
7
6
5

1
2
3
4

1313

4
3
2
1

5
6
7
8
9

10
11
12

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1/2"G 1/2"G 12 350 Hydraulic Oil
2 1/2"G 1/2"G 12 350 Hydraulic Oil
3 1/2"G 1/2"G 12 350 Hydraulic Oil
4 1/2"G 1/2"G 12 350 Hydraulic Oil
5 1/2"G 1/2"G 12 350 Hydraulic Oil
6 1/2"G 1/2"G 12 350 Hydraulic Oil
7 1/2"G 1/2"G 12 350 Hydraulic Oil
8 1/2"G 1/2"G 12 350 Hydraulic Oil
9 1/2"G 1/2"G 12 350 Hydraulic Oil

10 1/2"G 1/2"G 12 350 Hydraulic Oil
11 1/2"G 1/2"G 12 350 Hydraulic Oil
12 1/2"G 1/2"G 12 50 Drain
13 3/4"G 3/4"G 20 350 Hydraulic Oil
14 3/4"G 3/4"G 20 350 Hydraulic Oil

27
,5

°

R125

13 n.4

25°

25°

27,5°
25°

25°

12,5°

24

R110

13

4

9
10 11

12

1

14

2

5
67

8

3

85
36

5

16
21

8

46
5,

5

35

1

12

11

10

9

4

14

9

8
7

6

5

31 53

75
97

11
914

116
318

520
7 22

925
1

33
0

27
3 29

9

50
22

137

165

135

60

1

2

3

4
5

6

7

8
9 10

11
12

13

14

6

514

21

12

11

13

4
3
2
1

5
6
7
8
9

10
11
12

1414

12
11

ROTORSTATOR

10
9
8
7
6
5

1
2
3
4

13



Item code
D170140100

Item code
D124140200

Distributore rotante 14 vie
Swivel joint 14 ways

Distributore rotante 14 vie
Swivel joint 14 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

13

4
3
2
1

5
6
7
8
9

10
11
12

1414

12
11

ROTORSTATOR

10
9
8
7
6
5

1
2
3
4

13

1 1"G 1"G 24 350 Hydraulic Oil
2 1"G 1"G 24 350 Hydraulic Oil
3 1"G 1"G 24 350 Hydraulic Oil
4 1"G 1"G 24 350 Hydraulic Oil
5 1"G 1"G 24 350 Hydraulic Oil
6 1"G 1"G 24 350 Hydraulic Oil
7 M14x1.5 M14x1.5 6 350 Hydraulic Oil
8 M14x1.5 M14x1.5 6 350 Hydraulic Oil
9 M14x1.5 M14x1.5 6 350 Hydraulic Oil

10 M14x1.5 M14x1.5 6 350 Hydraulic Oil
11 M27x2 M27x2 18 350 Hydraulic Oil
12 M18x1.5 M18x1.5 12 350 Hydraulic Oil
13 M18x1.5 M18x1.5 12 350 Hydraulic Oil
14 M18x1.5 M18x1.5 12 350 Hydraulic Oil

285

12,5 n.4

20°

40°

40
°

20°
40°

40°

5°20°

25°
40°

260

1

2

3 4

5

6

1112
13 14

9 10

87

158

199

50

4

12
74

46
4

16
0

35

56
6,

5

13

11

9

7

5

3

1

57
,512

7,
519

7,
526

030
034

439
6

92
,5 16

2,
5 23

2,
5 28

0 32
0 37

1 42
180

30

159
220

 M
10

 
n.

4

1

3

5

7

9

2

4

6

8

10
11

12

13
14

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

13

4
3
2
1

5
6
7
8
9

10
11
12

1414

12
11

ROTORSTATOR

10
9
8
7
6
5

1
2
3
4

13

1 1"1/4G 1"1/4G 31 320 Hydraulic Oil
2 1"1/2 SAE 6000 1"1/2 SAE 6000 38 320 Hydraulic Oil
3 1"1/2 SAE 6000 1"1/2 SAE 6000 38 320 Hydraulic Oil
4 3/4"G 3/4"G 19 320 Hydraulic Oil
5 3/4"G 3/4"G 19 320 Hydraulic Oil
6 3/4"G 3/4"G 19 320 Hydraulic Oil
7 3/4"G 3/4"G 19 320 Hydraulic Oil
8 1/4"G 1/4"G 6 320 Hydraulic Oil
9 1/4"G 1/4"G 6 320 Hydraulic Oil

10 1/4"G 1/4"G n.2 6 320 Hydraulic Oil
11 1/4"G 1/4"G n.2 6 320 Hydraulic Oil
12 1/4"G 1/4"G n.2 6 320 Hydraulic Oil
13 1/2"G 1/2"G 12 320 Hydraulic Oil
14 1/2"G 1/2"G 12 320 Hydraulic Oil

350

325

22,5°

45°

22,5°

45°

1
6

7

3

14
12

111098

2

4
5

13

12
3

3
12

40

85

30
4

50 50
30

4

61
4,

5

150 150

270

50

13

11

9

3

1

7

6

1

5

4

11

46

9915
4,

5 19
6,

5

22
5

25
3,

5

28
2 30

6 34
7

32
6,

5
36

7,
5

38
8

41
0,

5

43
5

195

199

269

1

2

3

4
5

6
7

8
9

10
11

12
13

14

10

12
11

11

12

143

7

6



Item code
D124150400

Item code
D124150100

Distributore rotante 15 vie
Swivel joint 15 ways

Distributore rotante 15 vie
Swivel joint 15 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)ROTORSTATOR

13

10
9

4
3
2
1

5
6
7
8

12
11

14
1515

14

11
12

8
7
6
5

1
2
3
4

9
10

13

1 1/2"G 1/2"G 14 50 Hydraulic Oil
2 1"1/4G 1"1/4G 25 350 Hydraulic Oil
3 1"1/4G 1"1/4G 25 350 Hydraulic Oil
4 3/4"G 3/4"G 16 350 Hydraulic Oil
5 3/4"G 3/4"G 16 350 Hydraulic Oil
6 1/2"G 1/2"G 14 350 Hydraulic Oil
7 1/2"G 1/2"G 14 350 Hydraulic Oil
8 1/2"G 1/2"G 14 350 Hydraulic Oil
9 1/2"G 1/2"G 14 350 Hydraulic Oil

10 1/2"G 1/2"G 14 350 Hydraulic Oil
11 1/2"G 1/2"G 14 350 Hydraulic Oil
12 1/2"G 1/2"G 14 350 Hydraulic Oil
13 1/4"G 1/4"G 14 350 Hydraulic Oil
14 1/4"G 1/4"G 10 350 Hydraulic Oil
15 1/2"G 1/2"G 10 50 Hydraulic Oil

 199 

 6
13

,5
 

 1
40

 
 5

0 
 1

4 
 1

10
 

81
59

,5
51

51
,5

51
51

78
69

54
51

51
51

51

 159 

 3
0 

 80 

 100 

 4
4  7

8,
5 

 M
10 N

.4 

1

2

3

4

5

6

7

8

9

10
11

12
13

14

15

 1
15

 

 228 

 M12 N.6 

200

60°

60°
 10° 

2

3

8

6
7 5

1

9

10

11
12413

14

15

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)ROTORSTATOR

13

10
9

4
3
2
1

5
6
7
8

12
11

14
1515

14

11
12

8
7
6
5

1
2
3
4

9
10

13
CONNESSIONE

SLIPRING

SLIPRING
CONNECTIONOK

1 1/2"G 1/2"G 14 50 Hydraulic Oil
2 1"1/4G 1"1/4G 25 350 Hydraulic Oil
3 1"1/4G 1"1/4G 25 350 Hydraulic Oil
4 3/4"G 3/4"G 16 350 Hydraulic Oil
5 3/4"G 3/4"G 16 350 Hydraulic Oil
6 1/2"G 1/2"G 14 350 Hydraulic Oil
7 1/2"G 1/2"G 14 350 Hydraulic Oil
8 1/2"G 1/2"G 14 350 Hydraulic Oil
9 1/2"G 1/2"G 14 350 Hydraulic Oil

10 1/2"G 1/2"G 14 350 Hydraulic Oil
11 1/2"G 1/2"G 14 350 Hydraulic Oil
12 1/2"G 1/2"G 14 350 Hydraulic Oil
13 1/4"G 1/4"G 14 350 Hydraulic Oil
14 1/4"G 1/4"G 10 350 Hydraulic Oil
15 1/2"G 1/2"G 10 50 Hydraulic Oil

M12 n.6

115

 228 

 M
10

 
n.

4

 8
0 

60°

10°

60
°

 200 

2
9

1

5

7
6

8
315

14
13

4

12
11

10

 3
0 

 6
4,

5  1
08

  1
77

  2
31

 
 2

82
 

 3
33

  3
84

 
 4

09
,5

 

 4
35

 
 1

10
 

 2
5 

 3
7  5

7 

 5
0 

 159 

 1
4 

 2
06

 

 41 

 1"G 

1

2

34

56

78

910

11

12
13

1415

5

1

9

2

10

11

12

 199 

 1
45

,5
 

 2
05

 

 2
56

 

 3
07

,5
 

 3
58

,5
 

 6
13

,5
 

 4
56

 



Item code
D125160100

Item code
D145150100

Distributore rotante 15 vie
Swivel joint 15 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

19
18
17

15
14

11
12

ROTOR

8
7
6
5

1
2
3
4

STATOR

9
10

13

16 16

13

10
9

4
3
2
1

5
6
7
8

12
11

14
15

1 1"G 1"G 22 320 Hydraulic oil
2 1"G 1"G 22 320 Hydraulic oil
3 3/4"G 3/4"G 18 320 Hydraulic oil
4 1/2"G 1/2"G 12 320 Hydraulic oil
5 1/2"G 1/2"G 12 320 Hydraulic oil
6 1/2"G 1/2"G 12 320 Hydraulic oil
7 1/2"G 1/2"G 12 320 Hydraulic oil
8 1/2"G 1/2"G 10 320 Hydraulic oil
9 M16x1.5 M16x1.5 10 15 Air

10 M16x1.5 M16x1.5 10 15 Air
11 M16x1.5 M16x1.5 10 15 Air
12 M16x1.5 M16x1.5 10 15 Air
13 M16x1.5 M16x1.5 10 15 Air
14 M16x1.5 M16x1.5 10 15 Air

15

1"1/4 G

1"1/4 G

32 10 Hydraulic oil
1"G

16
1"G

1"1/4 G
1/2"G

 5
°  15°  2

0°
 

 30° 

 2
8°

 

 20° 

 19° 

 40° 

 20° 
 18°  20° 

 2
0°

 
 2

3°
 

 31° 

 246 

 2
60

 

 M
10 n.2 

 3
10

 

1

16

15

8
765

4
9

11

10

12
2

3

13

14

 9
0 

 4
2 

 4
8  9

0  1
60

 

 2
12

 

 2
63

 

 3
24

 
 3

46
 

 3
90

 
 4

12
 

 160 

 97,5  97,5 

 5
07

 
 6 

 1
1 

 4
56

 

1
2

3

4
5

6 7

8

9
10

11

12
13

14

18
15-16-17-19

 183 

 1
29

 

 1
86

  2
38

 
 3

02
 

 3
68

 

 4
56

 

 6
15

 

 1
8 

 1
08

 
 1

55
 

 8
0 

 4
5 

 3
0 

 80 

 M
12 n.8 

3

5

7

9

12

18

Distributore rotante 16 vie
Swivel joint 16 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar) Fluido

FluidMax pressure
at 12RPM (bar)

1 1"G 1"G 25 300 Hydraulic Oil
2 1"G 1"G 25 300 Hydraulic Oil
3 3/4"G 3/4"G 19 300 Hydraulic Oil
4 3/4"G 3/4"G 19 300 Hydraulic Oil
5 1/2"G 1/2"G 12 300 Hydraulic Oil
6 1/2"G 1/2"G 12 300 Hydraulic Oil
7 1/4"G 1/4"G 6 300 Hydraulic Oil
8 1/4"G 1/4"G 6 300 Hydraulic Oil
9 3/8"G 3/8"G 10 300 Hydraulic Oil

10 1/2"G 1/2"G 12 300 Hydraulic Oil
13 1/4"G 1/4"G 6 300 Hydraulic Oil
14 1/4"G 1/4"G 6 300 Hydraulic Oil
15 1/4"G 1/4"G 6 300 Hydraulic Oil
16 1/2"G 1/2"G 12 300 Hydraulic Oil
11 1/2"G 1/2"G 12 50 Water
12 1/2"G 1/2"G 12 50 Water

200

170

29
8,

5
15

89
,5

49
5

39
5

35
0,

7

37
5,

2

11
12

65
,5

35
,5

30,5

11
916

520
1

23
9,

527
531

0,
5

93
,5 14

2,
5 18

4 21
9 25

8,
5 29

2

6

4

2

16

14

10

8

15

13

9

7

5

3

1

13 n.4

R135

50

45° 45°

R120

1

13

14
12

3

15

10

11

2

5

8
4 9 6

16

7

11
16

13
14

8
7
6
5

1
2
3
4

9
10

15

1212

15

10
9

4
3
2
1

5
6
7
8

14
13

16
11

ROTORSTATOR



Item code
D170180100

Item code
D145180100

Distributore rotante 18 vie
Swivel joint 18 ways

Distributore rotante 18 vie
Swivel joint 18 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar)
Max pressure

at 12RPM (bar)

Fluido
Fluid

1 1"1/4 SAE 6000 1"1/4 SAE 6000 30 380 Hydraulic Oil
2 1"1/4 SAE 6000 1"1/4 SAE 6000 30 380 Hydraulic Oil
3 1"1/4 SAE 6000 1"1/4 SAE 6000 30 380 Hydraulic Oil
4 1"1/4 SAE 6000 1"1/4 SAE 6000 30 380 Hydraulic Oil
5 1/2"G 1/2"G 12 300 Hydraulic Oil
6 1/2"G 1/2"G 12 300 Hydraulic Oil
7 1/2"G 1/2"G 12 300 Hydraulic Oil
8 1/2"G 1/2"G 12 300 Hydraulic Oil
9 1/2"G 1/2"G 12 300 Hydraulic Oil

10 1/2"G 1/2"G 12 300 Hydraulic Oil
11 1/2"G 1/2"G 12 300 Hydraulic Oil
12 1/4"G 1/4"G 6 300 Hydraulic Oil
13 1/4"G 1/4"G 6 300 Hydraulic Oil
14 1/4"G 1/4"G 6 300 Hydraulic Oil
15 1/4"G 1/4"G 6 300 Hydraulic Oil
16 1/4"G 1/4"G 6 300 Hydraulic Oil
17 1/4"G 1/4"G 6 300 Hydraulic Oil
18 1/4"G 1/4"G 6 300 Hydraulic Oil

 325 

 1
5°

  1
5° 

 30°  30° 
 10°  10° 

 10° 

 15°  15° 
 30°  30°  12° 

 1
0°  

10
° 

 M12 n.6 

 300 

 60° 

1

2

3 4

6

8
9

10
13
14

15
16

17
18

 4
55

 

 5
6,

5 
 9

4,
5 

 1
32

,5
 

 2
18

,5
 

 2
64

,5
  3
10

,5
 

 1
72

,5
 

 4
8  2

5 

 7
0 

 1
02

  1
5 

 244 

 3
81

 

12

N.2

 3
7,

5 

 7
5,

5 

 1
13

,5
 

 1
51

,5
 

 1
95

,5
 

 2
41

,5
 

 2
87

,5
 

 3
42

 

 5
03

 

 199 
 24 

 1"G 

 3
1,

5 

 6
51

,5
 

 1
23

 
 5

0  4
19

,5
 M10 n.4

5

7

11

12

18

1716

1514

13

10

98

6

4

3

2
1

11

7

5

CONNESSIONE
SLIPRING

SLIPRING
CONNECTIONOK

STATOR ROTOR

15
14

17
16

11
12

8
7
6
5

1
2
3
4

9
10

13

18

13

10
9

4
3
2
1

5
6
7
8

12
11

16
17

14
15

18

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar)
Max pressure

at 12RPM (bar)

Fluido
Fluid

1 3/4"G 20 300 Hydraulic Oil
2 1"1/2G n.2 32 300 Hydraulic Oil
3 1"1/4G 30 300 Hydraulic Oil
4 1"G 20 300 Hydraulic Oil
5 3/4"G 20 300 Hydraulic Oil
6 1/2"G 12 300 Hydraulic Oil
7 3/4"G 12 300 Hydraulic Oil
8 1/2"G 12 300 Hydraulic Oil
9 3/4"G 12 300 Hydraulic Oil

10 1/2"G 12 300 Hydraulic Oil
11 1/2"G 12 10 Air
12 1/2"G 12 10 Air
13 1/2"G 12 10 Air
14 1/2"G 12 10 Air
15 1/4"G 8 10 Air
16 1/4"G 8 10 Air
17 1/4"G 8 10 Air
18 1/4"G 8 10 Air

242

20
,5

54

9111
9

14
4,

516
8 20

1

22
1

24
126

1

29
2,

5

31
1,

5 33
0,

5

34
9,

5

36
8,

5

38
8

40
742

6

225

1

222

3

4
5

6

7
8

9
10

13

11
12

14
15

16
1718

280

20
20

23
2

70

53
9

80

43
9,

5

30

85

85

27
0

30
0

115

115

17 n.4

M
16 n.3

20
0 2

2

18

14

4

1312
1

11
17

16

10

9
5

8 7

3

6

15

STATOR ROTOR

15

14

17

16

11

12

8

7

6

5

1
2

3

4

9

10

13

18

2
2

13

10

9

4

3

2
1

5

6

7

8

12

11

16

17

14

15

18

2

3/4"G
1"1/2G-1"1/4G-1"G

1"1/4G
1"G

3/4"G
1/2"G
3/4"G
1/2"G
3/4"G
1/2"G
1/2"G
1/2"G
1/2"G
1/2"G
1/4"G
1/4"G
1/4"G
1/4"G



Item code
D124220100

Distributore rotante 22 vie
Swivel joint 22 ways

POS.
Statore
Stator

Rotore
Rotor

DN
(mm)

Pressione max
a 12RPM (bar)
Max pressure

at 12RPM (bar)

Fluido
Fluid

1"G 1"G 22 450 Hydraulic Oil
1"G 1"G 22 450 Hydraulic Oil
1"G 1"G 22 450 Hydraulic Oil

1/2"G 1/2"G 14 450 Hydraulic Oil
1/2"G 1/2"G 14 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/2"G 1/2"G 14 450 Hydraulic Oil
1/4"G 1/4"G 6 450 Hydraulic Oil
1/4"G 1/4"G 6 30 Drain
1/4"G 1/4"G 6 15 Air
1/4"G 1/4"G 6 15 Air
1/4"G 1/4"G 6 15 Air
1/4"G 1/4"G 6 15 Air

 228 

 115 

 23,5° 
 12° 

 °5 
 2

4°
 

 23,5° 

 5
° 

 24° 

 115 

 M12 n.6 

 205 

20
19

2221

18

13

10
9

4

32

1

5

67 8

12
11

16

17
14

15

 4
3 

 7
0 

 5
3,

5 

 4
0,

5 

 3
8 

 3
8 

 3
8 

 3
8 

 4
3 

 3
4 

 3
0 

 5
03

 

 1
7 

 1
00

  4
0 

 7
5 

 175 

19
21

13

9

3

1

5

7

11

17

15

 80 
 100 

 5
0 

 3
0 

 2
30

,5
 

 7
8  1

42
,5

 
 1

88
 

 2
26

  3
02

 
 2

64
 

 3
40

 
 3

80
,5

 
 4

21
 

 4
51

 
 4

81
 

 199 

20
22

18

10

4

2

6

8

12

16

14

1

3

5

7

9

11

13

15

21

17
19

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22

15

14

17

16

11

12

8
7

6

5

1

2

3

4

9

10

13

18

13

10

9

STATOR

4

3

2

1

5

6

7

8

ROTOR

12

11

16

17

14

15

18

20

19

22

21 21

22

19

20
CONNESSIONE

SLIPRING

SLIPRING
CONNECTIONOK

note
Notes



YOUr hbs cONtAct

Surname:

Name:

E-mail:

Phone:

Mobile phone:

Notes:



www.hbs.it

The data and the contents of this catalogue are not tying and can have modifications at discretion of HBS. The catalogue 
can not be used to support eventual disputes. Warranty: The warranty of HBS products lasts for a period of 12 months 
starting from the delivery date of the products, except for different agreements between the parties. 

I dati ed i contenuti del presente catalogo possono subire modifiche a discrezione di HBS e non sono vincolanti. Il catalogo 
non potrà essere impiegato a supporto di eventuali contestazioni. Garanzia: La garanzia dei prodotti HBS è di 12 mesi dalla 
data di consegna salvo accordi diversi tra le parti.



h.b.s. srl

Via Mastroppa 4/6
46040 Monzambano
Mantova - Italy
Phone: ++390376800200
E-mail: customerservice@hbs.it

h.b.s. co. beijing ltD

N. 6102 Bldg, 16 Guanghua Rd
Tongzhou Industrial Devel. Zone
Beijing China
Phone: ++86 10 61507457
E-mail: zhuhua@hbsvalves.com.cn

h.b.s. do brasil ltda

Rua Domenico Martin Mezzomo, 159
Bairro: Santa Catarina 95030-230
Caxias do Sul - RS / Brasil
Phone: ++55 54 30282900
E-mail: lulian@hbs.it

h.b.s. india pvt ltd

3,Gokul Industrial Estate
Plot n. 150 - Marol Co-Op.Ind.Estate
Mumbai - 400059 - India
Phone: ++91 22 28560202
E-mail: sgupta@hbsvalves.in


